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Ûúß ÃÖß»Ö ÛúÖê ±úÖ›Ìü »Öë … ÜÖã»Öß Æãü‡Ô µÖÖ ×²Ö®ÖÖ Ã™üßÛú¸ü-ÃÖß»Ö Ûúß
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‡ÃÖÛêú ×»Ö‹ †Ö¯ÖÛúÖê ¯ÖÖÑ“Ö ×´Ö®Ö™ü ×¤üµÖê •ÖÖµÖëÝÖê … ˆÃÖÛêú ²ÖÖ¤ü ®Ö
ŸÖÖê †Ö¯ÖÛúß ¯ÖÏ¿®Ö-¯Öã×ÃŸÖÛúÖ ¾ÖÖ¯ÖÃÖ »Öß •ÖÖµÖêÝÖß †Öî̧ ü ®Ö Æüß †Ö¯ÖÛúÖê
†×ŸÖ× ü̧ŒŸÖ ÃÖ´ÖµÖ ×¤üµÖÖ •ÖÖµÖêÝÖÖ …

(iii) ‡ÃÖ •ÖÖÑ“Ö Ûêú ²ÖÖ¤ü OMR ¯Ö¡ÖÛú Ûúß ÛÎú´Ö ÃÖÓÜµÖÖ ‡ÃÖ ¯ÖÏ¿®Ö-¯Öã×ÃŸÖÛúÖ
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1. Who of the following has said that 

“A social institution is a functional 
configuration of culture pattern” ? 

 (A) Kimbal Young 

 (B) MacIver 

 (C) Ginsberg 

 (D) Gillin 
 

2. Deviant behaviour which does not 

cause physical harm or damage is 

known as 

 (A) Soft Deviance 

 (B) Social Deviance 

 (C) Elite Deviance 

 (D) Hard Deviance 
 

3. Who has given the concept of 

‘Reflexive role taking’ ? 

 (A) R.K. Merton 

 (B) R. Linton 

 (C) C.H. Cooley 

 (D) G.H. Mead 
 

4. According to Tonnies, neighbourhood 

is a types of 

 (A) Community 

 (B) Primary group 

 (C) Social group 

 (D) Secondary group 
 

5. Morgan’s name is associated with 

 (A) Patriarchal Theory 

 (B) Matriarchal Theory 

 (C) Primitive Promiscuity 

 (D) Extended Family 
 

6. Who gave the four stages : Oral 

stage, anal stage, oedipal stage and 

adolescent stage in the process of 

socialization ? 

 (A) C.H. Cooley 

 (B) G.H. Mead 

 (C) M. Mead 

 (D) S. Freud 

 
 
 
 

 

7. Marx perceived petty bourgeoisie as 

 (A) Integrated class 
 (B) A class in itself 
 (C) A transitional class 
 (D) A class by itself 
 

8. Weber’s theory of stratification 
differs from Marx that he introduced 
an additional structural category of 

 (A) Class 
 (B) Estate 
 (C) Status group 
 (D) Intellectual group 
 

9. The book entitled ‘Theory of Social 
Structure’ written by 

 (A) S.F. Nadel (B) R.K. Merton 
 (C) T. Parsons (D) Levi-Strauss 
 

10. The book ‘The Mothers’ was written 
by 

 (A) Margaret Mead 
 (B) Margret Thacher 
 (C) Briffault 
 (D) Kingsley Davis 
 

11. Who said this ? 
 “There are no roles without statuses 

or statuses without roles.” 
 (A) R.K. Merton (B) S.F. Nadel 
 (C) Robert Park (D) Ralph Linton 
 

12. Functional analysis of stratification 
was given by 

 (A) K. Davis (B) J. Parsons 
 (C) E. Durkheim (D) M. Weber 
 

13. The cases are drawn from each 
stratum in the same proportion as they 
occur in the universe is known as 

 (A) Simple random sampling 
 (B) Systematic sampling 
 (C) Stratified random sampling 
 (D) Proportionate stratified 

sampling 

SOCIOLOGY 

Paper – II 
 

Note : This paper contains fifty (50) objective type questions, each question carrying two 

(2) marks. Attempt all the questions. 
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1. ×®Ö´®Ö ´Öë ÃÖê ×ÛúÃÖ®Öê µÖÆü ÛúÆüÖ Æîü ×Ûú ‹Ûú 

ÃÖÖ´ÖÖ×•ÖÛú ÃÖÓÃ£ÖÖ ÃÖÖÓÃÛéú×ŸÖÛú ¯ÖÏÞÖÖ»Öß ÛúÖ 
¾µÖÖ¾ÖÆüÖ×¸üÛú ÃÖ´Öºþ¯Ö (ÛúÖ®Ö×±úÝÖ¸êü¿Ö®Ö) ÆüÖêŸÖÖ Æîü ? 

 (A) ×Ûú´²Ö»Ö µÖÓÝÖ (B) ´ÖîÛú†Ö‡¾Ö¸ü 
 (C) ×ÝÖ®ÃÖ²ÖÝÖÔ (D) ×ÝÖ×»»Ö®Ö 
 
2. ¾µÖ¾ÖÆüÖ¸ü Ûúß ¾ÖÆü ×³Ö®®ÖŸÖÖ •ÖÖê ×ÛúÃÖß ¯ÖÏÛúÖ¸ü Ûúß 

¿ÖÖ¸üß×¸üÛú ÆüÖ×®Ö †£Ö¾ÖÖ ®ÖãÛúÃÖÖ®Ö ®ÖÆüà ¯ÖÆãÑü“ÖÖŸÖß ÛúÖê 
ŒµÖÖ ÛúÆüÖ •ÖÖŸÖÖ Æîü ? 

 (A) ÃÖæõ´Ö ×³Ö®®ÖŸÖÖ 
 (B) ÃÖÖ´ÖÖ×•ÖÛú ×³Ö®®ÖŸÖÖ 
 (C) ³Ö¦ü ×³Ö®®ÖŸÖÖ 
 (D) ÛúšüÖê¸ü ×³Ö®®ÖŸÖÖ 
 

3. †ÖŸ´ÖÖ£ÖÔÛú ³Öæ×´ÖÛúÖ ÝÖÏÆüÞÖ (×¸ü°»Öî×ŒÃÖ¾Ö ¸üÖê»Ö-
™êüØÛúÝÖ) Ûúß †¾Ö¬ÖÖ¸üÞÖÖ ×ÛúÃÖ®Öê ¤üß Æîü ? 

 (A) †Ö¸ü.Ûêú. ´Ö™Ôü®Ö (B) †Ö¸ü. Ø»Ö™ü®Ö 
 (C) ÃÖß.‹“Ö. Ûæú»Öê (D) •Öß.‹“Ö. ´Öß›üü 
 

4. ™üÖî®Öß•Ö Ûêú †®ÖãÃÖÖ¸ü ¯Ö›ÌüÖêÃÖ ×ÛúÃÖ ¯ÖÏÛúÖ¸ü ´Öë †ÖŸÖÖ 
Æîü ? 

 (A) ÃÖ´Öã¤üÖµÖ  (B) ¯ÖÏÖ£Ö×´ÖÛú ÃÖ´ÖæÆü 
 (C) ÃÖÖ´ÖÖ×•ÖÛú ÃÖ´ÖæÆü (D) ÝÖÖîÞÖ ÃÖ´ÖæÆü 
 
5. ´ÖÖêÝÖÔ®Ö ÛúÖ ®ÖÖ´Ö ×ÛúÃÖÃÖê ÃÖ´²Ö¨ü Æîü ? 

 (A) ×¯ÖŸÖé ×ÃÖ¨üÖ®ŸÖ 
 (B) ´ÖÖŸÖé ×ÃÖ¨üÖ®ŸÖ 
 (C) †Ö×¤ü´Ö Ã¾Öî×¸üŸÖÖ (×¯ÖÏ´Öß×™ü¾Ö ¯ÖÏÖê×´ÖÃÖŒµÖæ™üß) 
 (D) ×¾ÖÃŸÖéŸÖ ¯Ö×¸ü¾ÖÖ¸ü 
 

6. ÃÖ´ÖÖ•ÖßÛú¸üÞÖ Ûúß ¯ÖÏ×ÛÎúµÖÖ ´Öë “ÖÖ¸ü †¾ÖÃ£ÖÖ‹Ñ 
´ÖÖî×ÜÖÛú, ÝÖã¤üÖ•Ö®µÖ, ‡×›ü¯ÖÃÖ †Öî̧ ü ×Ûú¿ÖÖȩ̂ üÖ¾ÖÃ£ÖÖ 
ÛúÖ ×¾Ö³ÖÖ•Ö®Ö ×ÛúÃÖÛúß ¤êü®Ö Æîü ? 

 (A) ÃÖß.‹“Ö. Ûæú»Öê (B) •Öß.‹“Ö. ´Öß›ü 
 (C) ‹´Ö. ´Öß›ü (D) ‹ÃÖ. ±ÏúÖµÖ›ü 

 

 

 

 

 
 

7. ´ÖÖŒÃÖÔ ÛúÖ ”ûÖê™êü ¯ÖæÑ•Öß¯Ö×ŸÖµÖÖë Ûêú ¯ÖÏ×ŸÖ ÃÖÖê“Ö Æîü ×Ûú 
¾Öê ________ Æïü 

 (A) ‹ÛúßÛéúŸÖ ¾ÖÝÖÔ 
 (B) †¯Ö®Öê Æüß ³ÖßŸÖ¸ü ¾ÖÝÖÔ 
 (C) ÃÖÓÛÎúÖ´Öß ¾ÖÝÖÔ 
 (D) †¯Ö®Öê †Ö¯Ö ´Öë ¾ÖÝÖÔ 
 

8. ¾Öê²Ö¸ü ÛúÖ ÃŸÖ¸üßÛú¸üÞÖ ÛúÖ ×ÃÖ ü̈Ö®ŸÖ ´ÖÖŒÃÖÔ Ûêú 
×ÃÖ¨üÖ®ŸÖ ÃÖê ×³Ö®®Ö Æîü ŒµÖÖë×Ûú ´ÖÖŒÃÖÔ ®Öê ‡ÃÖ´Öë ‹Ûú 
†×ŸÖ×¸üŒŸÖ ÃÖÓ¸ü“Ö®ÖÖŸ´ÖÛú ¾ÖÝÖÔ ÛúÖê •ÖÖê›Ìü ×¤üµÖÖ Æîü 

 (A) ¾ÖÝÖÔ 
 (B) ÃÖ´¯Ö¤üÖ 
 (C) ×Ã£Ö×ŸÖ (Ã™êü™üÃÖ) ÃÖ´ÖæÆü 
 (D) ²ÖÖî×¨üÛú ÃÖ´ÖæÆü 
 

9. ‘×£ÖµÖÖȩ̂ üß †Öò±ú ÃÖÖê¿Ö»Ö Ã™ÒüŒ“Ö¸ü’ ®ÖÖ´ÖÛú ¯ÖãÃŸÖÛú 
ÛúÖ »ÖêÜÖÛú ÛúÖî®Ö Æîü ? 

 (A) ‹ÃÖ.‹±ú. ®Ö›êü»Ö (B) †Ö¸ü.Ûêú. ´Ö™Ôü®Ö 
 (C) ™üß. ¯ÖÖ¸üÃÖ®Ö (D) »Öß¾Öß-Ã™ÒüÖÃÖ 
 

10. ¯ÖãÃŸÖÛú ‘×¤ü ´Ö¤üÃÖÔ’ ÛúÖ »ÖêÜÖÛú ÛúÖî®Ö Æîü ? 

 (A) ´ÖÖÝÖì ȩ̂ü™ü ´Öß›ü (B) ´ÖÖÝÖì ȩ̂ü™ü £Öî“Ö¸ü 
 (C) ²ÖÎß±úÖ»™ü (D) ØÛúÝÃÖ»Öê ›êü×¾ÖÃÖ 
 

11. ‘×ÛúÃÖß ³Öæ×´ÖÛúÖ Ûêú ×²Ö®ÖÖ ¯Ö¤ü ®ÖÆüà †Öî¸ü ×²Ö®ÖÖ ¯Ö¤ü 
Ûêú ³Öæ×´ÖÛúÖ ®ÖÆüà ÆüÖêŸÖß …’ µÖÆü Ûú£Ö®Ö ×ÛúÃÖÛúÖ Æîü ? 

 (A) †Ö¸ü.Ûêú. ´Ö™Ôü®Ö (B) ‹ÃÖ.‹±ú. ®Ö›êü»Ö 
 (C) ¸üÖò²Ö™Ôü ¯ÖÖÛÔú (D) ¸üÖ»±ú Ø»Ö™ü®Ö 
 

12. ÃŸÖ¸üßÛú¸üÞÖ Ûêú ¾µÖÖ¾ÖÆüÖ×¸üÛú ×¾Ö¿»ÖêÂÖÞÖ ÛúÖ 
×ÃÖ¨üÖ®ŸÖ ×ÛúÃÖ®Öê ×¤üµÖÖ ? 

 (A) Ûêú. ›êü×¾ÖÃÖ (B) •Öê. ¯ÖÖÃÖÔ®ÃÖ 
 (C) ‡Ô. ¤ãüÜÖá´Ö (D) ‹´Ö. ¾Öê²Ö¸ü 
 

13. ¯ÖÏŸµÖêÛú ÃŸÖ¸ü ¯Ö¸ü ´ÖÖ´Ö»ÖÖë (Ûêú×ÃÖÃÖ) ÛúÖê ˆÃÖß 
†®Öã¯ÖÖŸÖ ÃÖê »Öê®ÖÖ “ÖÖ×Æü‹ ×•ÖÃÖ´Öë µÖê ×¾Ö¿¾Ö ´Öë 
‘Ö×™üŸÖ ÆüÖêŸÖê Æïü … ‡ÃÖê ×ÛúÃÖ ®ÖÖ´Ö ÃÖê •ÖÖ®ÖÖ •ÖÖŸÖÖ  
Æîü ? 

 (A) ÃÖ¸ü»Ö µÖÖ¥ü×“”ûÛúú ÃÖî´¯ÖØ»ÖÝÖ 
 (B) ¾µÖ¾Ö×Ã£ÖŸÖ ÃÖî´¯ÖØ»ÖÝÖ 
 (C) ÃŸÖ¸üßÛéúŸÖ µÖÖ¥ü×“”ûÛú ÃÖî´¯ÖØ»ÖÝÖ 
 (D) †®Öã¯ÖÖŸÖÛú ÃŸÖ¸üßÛéúŸÖ ÃÖî´¯ÖØ»ÖÝÖ 

ÃÖ´ÖÖ•Ö ¿ÖÖÃ¡Ö 
¯ÖÏ¿®Ö¯Ö¡Ö – II 

 

®ÖÖê™ü : ‡ÃÖ ¯ÖÏ¿®Ö¯Ö¡Ö ´Öë ¯Ö“ÖÖÃÖ (50) ²ÖÆãü-×¾ÖÛú»¯ÖßµÖ ¯ÖÏ¿®Ö Æïü … ¯ÖÏŸµÖêÛú ¯ÖÏ¿®Ö Ûêú ¤üÖê (2) †ÓÛú Æïü … ÃÖ³Öß ¯ÖÏ¿®ÖÖë Ûêú 
ˆ¢Ö¸ü ¤ëü … 
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14. The first western scholar who 

undertook a systematic study of 

society. 

 (A) Plato 

 (B) Socrates 

 (C) Thomas Aquinas 

 (D) Comte 
 

15. The changes in communities come 

about because 

 (A) Society is dynamic 

 (B) Society is revolutionary 

 (C) Society welcomes changes 

 (D) Society is static 

 

16. The ability to repeat the findings of a 

research is known as  

 (A) Validity 

 (B) Reliability 

 (C) Serendipity 

 (D) Accountability 

 

Observe the table given below and answer 

the questions 17 to 20 below the table : 

Expectation of life by age and sex for 

selected countries 
Average future lifetime in years at stated age 

Males 
Country 

0 1 10 20 40 60 

Burma 40.8 49.8 45.5 36.8 21.1 10.6 

Canada 69.3 69.8 61.2 51.7 33.2 17.0 

Guatemala 48.3 52.5 51.3 43.2 28.1 14.8 

India 41.9 48.4 45.2 36.9 22.1 11.8 

Israel 70.3 71.1 62.5 53.1 34.5 17.4 

Kenya 46.9 52.6 51.0 43.0 28.3 14.5 

Poland 66.8 68.0 59.4 49.8 31.6 15.5 

Sweden 72.1 71.9 63.2 53.5 34.7 17.7 

Syria 54.5 60.7 56.4 47.4 30.5 15.2 

United 

States 

68.7 68.9 60.3 50.8 32.6 16.8 

Average future lifetime in years at stated age 

Females 
Country 

0 1 10 20 40 60 

Burma 43.8 51.6 47.0 38.3 23.7 12.4 

Canada 76.4 76.6 67.9 58.2 39.0 21.4 

Guatemala 49.7 53.4 52.8 44.6 29.2 14.7 

India 40.6 46.0 43.8 35.6 22.4 12.9 

Israel 73.9 74.5 65.9 56.1 36.9 19.2 

Kenya 51.2 56.6 54.1 45.7 30.3 15.7 

Poland 73.8 74.6 66.0 56.2 37.0 19.3 

Sweden 77.7 77.3 68.5 58.7 39.4 21.3 

Syria 58.7 64.1 59.5 50.5 33.3 17.3 

United 

States 

76.5 76.6 67.9 58.1 39.0 21.8 

Source : Adapted from United Nations Demographic Yearbook (1978) 

17. What is the life expectancy at birth 
for males for India ? 

 (A) 41.9 years (B) 48.4 years 
 (C) 40.6 years (D) 46.0 years 
 

18. Which country has the highest life 
expectancy at birth for female ? 

 (A) United States (B) Sweden 
 (C) Israel (D) Canada 
 

19. Which country has the lowest life 
expectancy at birth for females ? 

 (A) Burma (B) Guatemala 
 (C) India (D) Syria 
 

20. What is lowest life expectancy for 
females at 20 years of age ? 

 (A) 38.3 (B) 36.8 
 (C) 35.6 (D) 36.9 
 

21. Match items in List – I with the 
items in List – II and choose the 
correct code that match correctly : 

List – I List – II 
I. Social research 

utilizing intensive 
study of a single 
instance of social 
phenomenon as 
data 

1. Questio-
nnaire 

 
2. Case study 
 
3. Interview 

II. A prepare list of 
questions asked of a 
subject/respondent 
in a face-to-face 
encounter 

 
4. Validity 
 
 
5. Reliability 

III. A written list of 
questions filled 
out or responded 
to in writing by a 
respondent as a 
data gathering 
technique in social 
research. 

 

IV. A quality attributed 
to propositions on 
measures to the 
degree to which 
they conform to 
established know-
ledge or truth. 

 

 Codes : 
  I II III IV 
 (A) 2 1 3 4 
 (B) 3 4 5 1 
 (C) 5 3 1 2 
 (D) 2 3 1 4 
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14. ÃÖ´ÖÖ•Ö ÛúÖ ¾µÖ¾Ö×Ã£ÖŸÖ †¬µÖµÖ®Ö Ûú¸ü®Öê ¾ÖÖ»ÖÖ 
ÃÖ¾ÖÔ¯ÖÏ£Ö´Ö ¯Ö×¿“Ö´Öß ×¾Ö«üÖ®Ö ÛúÖî®Ö £ÖÖ ? 

 (A) ¯»Öî™üÖê (B) ÃÖãÛú¸üÖŸÖ 
 (C) £ÖÖ´ÖÃÖ ‹Œ¾Öß®ÖÃÖ (D) ÛúÖ´™êü 
 

15. ÃÖ´Öã¤üÖµÖÖë ´Öë ¯Ö×¸ü¾ÖŸÖÔ®Ö †ÖŸÖê Æïü ŒµÖÖë×Ûú 
 (A) ÃÖ´ÖÖ•Ö ÝÖ×ŸÖ¿Öß»Ö Æîü … 
 (B) ÃÖ´ÖÖ•Ö ÛÎúÖ×®ŸÖÛúÖ¸üß Æîü … 

 (C) ÃÖ´ÖÖ•Ö ¯Ö×¸ü¾ÖŸÖÔ®Ö ÛúÖê ¯ÖÃÖ®¤ü Ûú¸üŸÖÖ Æîü … 
 (D) ÃÖ´ÖÖ•Ö ×Ã£Ö¸ü Æîü … 
 

16. ×ÛúÃÖß †®ÖãÃÖÓ¬ÖÖ®Ö Ûêú ×®ÖÞÖÔµÖÖë ÛúÖê ¤üÖêÆü¸üÖ®Öê Ûúß 
µÖÖêÝµÖŸÖÖ ÛúÖê ŒµÖÖ ÛúÆüŸÖê Æïü ? 

 (A) ¾Öî¬µÖŸÖÖ (B) ×¾Ö¿¾ÖÃÖ®ÖßµÖŸÖÖ 
 (C) “Ö´ÖŸÛúÖ×¸üŸÖÖ (D) •Ö¾ÖÖ²Ö¤êüÆüß 
 

×®Ö´®Ö ŸÖÖ×»ÖÛúÖ ÛúÖê ¤êü×ÜÖ‹ †Öî¸ü ŸÖŸ¯Ö¿“ÖÖŸÖË 17 ÃÖê 20 

ŸÖÛú ¯ÖÏ¿®ÖÖë ÛúÖ ˆ¢Ö¸ü ¤üß×•Ö‹ : 

†ÖµÖã †Öî¸ü Ø»ÖÝÖ †Ö¬ÖÖ×¸üŸÖ “ÖµÖ×®ÖŸÖ ¤êü¿ÖÖë ´Öë           
¯ÖÏŸµÖÖ×¿ÖŸÖ •Öß¾Ö®ÖÖ¾Ö×¬Ö 

¯ÖÏ¤ü¢Ö ˆ´ÖÏ ¯Ö¸ü ³ÖÖ¾Öß †ÖîÃÖŸÖ †ÖµÖã, ¾ÖÂÖÖí ´Öë 
¯Öã¹ýÂÖ ¤êü¿Ö 

0 1 10 20 40 60 

²Ö´ÖÖÔ 40.8 49.8 45.5 36.8 21.1 10.6 

Ûú®ÖÖ›üÖ 69.3 69.8 61.2 51.7 33.2 17.0 

ÝÖÖê‡™ü´ÖÖ»ÖÖ 48.3 52.5 51.3 43.2 28.1 14.8 

³ÖÖ¸üŸÖ 41.9 48.4 45.2 36.9 22.1 11.8 

‡•Ö¸üÖ‡»Ö 70.3 71.1 62.5 53.1 34.5 17.4 

Ûúß×®ÖµÖÖ 46.9 52.6 51.0 43.0 28.3 14.5 

¯ÖÖò»Öï›ü 66.8 68.0 59.4 49.8 31.6 15.5 

Ã¾Öß›ü®Ö 72.1 71.9 63.2 53.5 34.7 17.7 

ÃÖß×¸üµÖÖ 54.5 60.7 56.4 47.4 30.5 15.2 

†´Öê×¸üÛúÖ 68.7 68.9 60.3 50.8 32.6 16.8 

¯ÖÏ¤ü¢Ö ˆ´ÖÏ ¯Ö¸ü ³ÖÖ¾Öß †ÖîÃÖŸÖ †ÖµÖã, ¾ÖÂÖÖí ´Öë 
Ã¡Öß ¤êü¿Ö 

0 1 10 20 40 60 

²Ö´ÖÖÔ 43.8 51.6 47.0 38.3 23.7 12.4 

Ûú®ÖÖ›üÖ 76.4 76.6 67.9 58.2 39.0 21.4 

ÝÖÖê‡™ü´ÖÖ»ÖÖ 49.7 53.4 52.8 44.6 29.2 14.7 

³ÖÖ¸üŸÖ 40.6 46.0 43.8 35.6 22.4 12.9 

‡•Ö¸üÖ‡»Ö 73.9 74.5 65.9 56.1 36.9 19.2 

Ûúß×®ÖµÖÖ 51.2 56.6 54.1 45.7 30.3 15.7 

¯ÖÖò»Öï›ü 73.8 74.6 66.0 56.2 37.0 19.3 

Ã¾Öß›ü®Ö 77.7 77.3 68.5 58.7 39.4 21.3 

ÃÖß×¸üµÖÖ 58.7 64.1 59.5 50.5 33.3 17.3 

†´Öê×¸üÛúÖ 76.5 76.6 67.9 58.1 39.0 21.8 

(†´Öê×¸üÛúÖ Ûúß •Ö®ÖÃÖÖÓ×ÜµÖÛúß ¾ÖÖÙÂÖÛú ¯ÖãÃŸÖÛú 1978 ÃÖê) 

17. ³ÖÖ¸üŸÖ ´Öë •Ö®´Öê ¯Öã¹ýÂÖÖë Ûúß ¯ÖÏŸµÖÖ×¿ÖŸÖ •Öß¾Ö®ÖÖ¾Ö×¬Ö 
×ÛúŸÖ®Öß Æîü ? 

 (A) 41.9 ¾ÖÂÖÔ (B) 48.4 ¾ÖÂÖÔ 
 (C) 40.6 ¾ÖÂÖÔ (D) 46.0 ¾ÖÂÖÔ 
 

18. ×ÛúÃÖ ¤êü¿Ö ´Öë ×Ã¡ÖµÖÖë Ûúß ¯ÖÏŸµÖÖ×¿ÖŸÖ •Öß¾Ö®ÖÖ¾Ö×¬Ö 
†×¬ÖÛúŸÖ´Ö Æîü ? 

 (A) †´Öê×¸üÛúÖ (B) Ã¾Öß›ü®Ö 
 (C) ‡•ÖÌ¸üÖ‡»Ö (D) Ûú®ÖÖ›üÖ 
 

19. ×ÛúÃÖ ¤êü¿Ö ´Öë ×Ã¡ÖµÖÖë Ûúß ¯ÖÏŸµÖÖ×¿ÖŸÖ •Öß¾Ö®ÖÖ¾Ö×¬Ö 
®µÖæ®ÖŸÖ´Ö Æîü ? 

 (A) ²Ö´ÖÖÔ (B) ÝÖÖê‡™ü´ÖÖ»ÖÖ 
 (C) ³ÖÖ¸üŸÖ (D) ÃÖß×¸üµÖÖ 
 

20. 20 ¾ÖÂÖÔ Ûúß †ÖµÖã Ûúß Ã¡Öß Ûúß ®µÖæ®ÖŸÖ´Ö ¯ÖÏŸµÖÖ×¿ÖŸÖ 
•Öß¾Ö®ÖÖ¾Ö×¬Ö ŒµÖÖ Æîü ? 

 (A) 38.3 (B) 36.8 
 (C) 35.6 (D) 36.9 
 

21. ÃÖæ“Öß – I Ûúß ´Ö¤üÖë ÛúÖê ÃÖæ“Öß – II Ûúß ´Ö¤üÖë ÃÖê 
ÃÖã´Öê×»ÖŸÖ Ûúß×•Ö‹ †Öî¸ü ¯ÖÏ¤ü¢Ö Ûæú™ü ÃÖê ÃÖÆüß ˆ¢Ö¸ü 
ÛúÖ “ÖµÖ®Ö Ûúß×•Ö‹ : 

ÃÖæ“Öß – I ÃÖæ“Öß – II 

I. ÃÖÖ Ö́Ö×•ÖÛú †®ÖãÃÖÓ¬ÖÖ®Ö Ûêú 
×»Ö‹ ×•ÖÃÖ Ö́ë ÃÖÖ Ö́Ö×•ÖÛú 
ÃÖÓ¾Öé×¢Ö ÛúÖ ×ÛúÃÖß ‹Ûú»Ö 
‘Ö™ü®ÖÖ Ûêú ÝÖÆü®Ö †¬µÖµÖ®Ö Ûúß 
ÃÖÖ Ö́ÝÖÏß ÛúÖ ȪÏµÖÖêÝÖ  ÆüÖê … 

1. ¯ÖÏ¿®ÖÖ¾Ö»Öß 

II. ×ÛúÃÖß ×¾ÖÂÖµÖ/¾µÖ×ŒŸÖ 
ÃÖ´²Ö®¬Öß ×®ÖÙ´ÖŸÖ ¯ÖÏ¿®ÖÖ¾Ö»Öß 
×•ÖÃÖê ÃÖÖõÖÖŸÛúÖ ü̧ 
ˆ¢Ö ü̧¤üÖŸÖÖ ÃÖê ¯Öæ”ûŸÖÖ Æîü … 

2. ¾µÖ×ŒŸÖÝÖŸÖ 
†¬µÖµÖ®Ö 

 

III. ×ÛúÃÖß ˆ¢Ö ü̧¤üÖŸÖÖ «üÖ ü̧Ö 
³Ö ü̧Ûú ü̧ »ÖÖî™üÖ‡Ô ÝÖ‡Ô 
¯ÖÏ¿®ÖÖ¾Ö»Öß ×•ÖÃÖÛúÖ ¯ÖÏµÖÖêÝÖ 
ÃÖÖ´ÖÖ×•ÖÛú †®ÖãÃÖÓ¬ÖÖ®Ö Ûêú 
×»Ö‹ ÃÖÖ´ÖÝÖÏß •Öã™üÖ®Öê ÆêüŸÖã 
×ÛúµÖÖ •ÖÖŸÖÖ Æîü … 

3. ÃÖÖõÖÖŸÛúÖ¸ü 

IV. ¾ÖÆü ÝÖãÞÖ¾Ö¢ÖÖ •ÖÖê ×ÛúÃÖß 
¯ÖÏÃŸÖÖ¾Ö®ÖÖ ÛúÖê ¤üß •ÖÖŸÖß Æîü 
×Ûú ¾ÖÆü ×ÛúÃÖ ÃÖß´ÖÖ ŸÖÛú 
Ã£ÖÖ×¯ÖŸÖ –ÖÖ®Ö †£Ö¾ÖÖ 
ÃÖŸµÖ Ûêú †®ÖãÃÖÖ ü̧ Æîü … 

4. ¾Öî¬µÖŸÖÖ 
 

 

5. ×¾Ö¿¾ÖÃÖ®ÖßµÖŸÖÖ 

 Ûæú™ü : 
  I II III IV 
 (A) 2 1 3 4 
 (B) 3 4 5 1 
 (C) 5 3 1 2 
 (D) 2 3 1 4 
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22. Given below are two statements, one 
labelled as Assertion (A) and the 
other is labelled as Reason (R) : 

 Assertion (A) : A conflict relationship 

is one in which the parties can 

gain only at one another’s 

expense. 

 Reason (R) : Conflict always is 

concerned with attempts to 

acquire or exercise power. 

 In the context of the above two 

statements, which one of the 

following codes is correct : 

 Codes : 

 (A) Both (A) and (R) are true and 

(R) is the explanation of (A). 

 (B) Both (A) and (R) are true, but 

(R) is not the explanation of 

(A). 

 (C) (A) is true, but (R) is false. 

 (D) (A) is false, but (R) is true. 

 

23. We have four sociologists who 

contributed to Conflict Theory. 

Identify their correct order of 

appearance in Sociology. 

 (A) Karl Marx, Ralph Dahrendorf, 

Lewis Coser, C. Wright Mills 

 (B) Karl Marx, Lewis Coser, C. 

Wright Mills, Ralph 

Dahrendorf 

 (C) Lewis Coser, Karl Marx, 

Ralph Dahrendorf, C. Wright 

Mills 

 (D) Lewis Coser, C. Wright Mills, 

Karl Marx, Ralph Dahrendorf 

24. We have four early social thinkers 

listed below. Identify the correct 

order of their appearance in 

Sociology/Social Anthropology. 

 (A) S.F. Nadel, Radcliffe Brown, 

Clande Levi-Strauss, Bronislaw 

Malinowski 

 (B) Radcliffe Brown, Bronislaw 

Malinowski, S.F. Nadel, 

Clande Levi-Strauss 

 (C) Clande Levi-Strauss, Radcliffe 

Brown, Bronislaw Malinowski, 

S.F. Nadel 

 (D) Bronislaw Malinowski, Clande 

Levi-Strauss, Radcliffe Brown, 

S.F. Nadel 

 

25. Social stratification is based on 

 I. Power II. Property 

 III. Status IV. Authority 

 Choose the correct code : 

 Codes : 

 (A) I, II and III only. 

 (B) I, II, III and IV. 

 (C) II, III and IV only. 

 (D) I, III and IV only. 

 

26. ______ is the process through which 

the components of an organisation 

become bound together into a whole 

entity. 

 (A) Social organisation 

 (B) Social cohesion 

 (C) Social conflict 

 (D) Social institution 

 

27. ______ is a person’s subjective 

understanding of how to enact a 

particular role, that is, how other 

people expect him/her to act. 

 (A) Role expectation 

 (B) Role acquisition 

 (C) Role repertoire 

 (D) Role enactment 
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22. ®Öß“Öê ¤üÖê Ûú£Ö®Ö ×¤üµÖê •ÖÖ ¸üÆêü Æïü ×•Ö®Ö´Öë ÃÖê ¯ÖÏ£Ö´Ö 
Ûú£Ö®Ö ÛúÖê †×³ÖÛú£Ö®Ö (A) †Öî¸ü ×«üŸÖßµÖ ÛúÖê ŸÖÛÔú 
(R) ÛúÆüÖ ÝÖµÖÖ Æîü : 

 †×³ÖÛú£Ö®Ö (A) : ×¸ü¿ŸÖÖë ´Öë ÃÖÓÛú™ü ¾ÖÆü Æîü 
×•ÖÃÖ´Öë ‹Ûú ¯ÖõÖ ¤æüÃÖ¸êü ¯ÖõÖ Ûúß ÆüÖ×®Ö ÃÖê 
»ÖÖ³ÖÖ×®¾ÖŸÖ ÆüÖêŸÖÖ Æîü … 

 ŸÖÛÔú (R) : µÖÆü ÃÖÓÛú™ü †×¬ÖÛúÖ ü̧ •ÖŸÖÖ®Öê †£Ö¾ÖÖ 
•Öã™üÖ®Öê Ûêú ¯ÖÏµÖŸ®ÖÖë ÃÖê ÃÖ´²Ö¨ü ÆüÖêŸÖÖ Æîü … 

 ˆ¯Ö¸ü ×»ÖÜÖê Ûú£Ö®ÖÖë Ûêú ÃÖ®¤ü³ÖÔ ´Öë ÛúÖî®Ö ÃÖÖ ‹Ûú 
Ûæú™ü ÃÖÆüß Æîü ? 

 Ûæú™ü : 
 (A) (A) †Öî¸ü (R) ¤üÖê®ÖÖë ÃÖÆüß Æïü †Öî¸ü (A) 

ÛúÖ (R) ÃÖÆüß Ã¯ÖÂ™üßÛú¸üÞÖ Æîü … 

 (B) (A) †Öî¸ü (R) ¤üÖê®ÖÖë ÃÖÆüß Æïü, ¯Ö¸ü®ŸÖã (A) 

ÛúÖ (R) ÃÖÆüß Ã¯ÖÂ™üßÛú¸üÞÖ ®ÖÆüà Æîü … 

 (C) (A) ÃÖÆüß Æîü, ¯Ö¸ü®ŸÖã (R) ÝÖ»ÖŸÖ Æîü … 

 (D) (A) ÝÖ»ÖŸÖ Æîü, ¯Ö¸ü®ŸÖã (R) ÃÖÆüß Æîü … 

 
23. Æü´ÖÖ¸êü µÖÆüÖÑ “ÖÖ¸ü ÃÖ´ÖÖ•Ö¿ÖÖÃ¡Öß Æïü ×•Ö®ÆüÖë®Öê ÃÖÓÛú™ü-

×ÃÖ¨üÖ®ŸÖ ´Öë µÖÖêÝÖ¤üÖ®Ö ›üÖ»ÖÖ Æîü … ÃÖ´ÖÖ•Ö ¿ÖÖÃ¡Ö ´Öë 
ˆ®ÖÛêú ¯ÖÏ¾Öê¿Ö ÛúÖ ÛÎú´ÖÖ®ÖãÃÖÖ ü̧ ÃÖÆüß “ÖµÖ®Ö Ûúß×•ÖµÖê … 

 (A) ÛúÖ»ÖÔ ´ÖÖŒÃÖÔ, ¸üÖ»±ú ¤êüÆü¸ü®Ö›üÖ±ú, »Öß×¾ÖÃÖ 
ÛúÖê•ÖÌ¸ü, ÃÖß ¸üÖ‡™ü ×´Ö»•ÖÌ 

 (B) ÛúÖ»ÖÔ ´ÖÖŒÃÖÔ, »Öß×¾ÖÃÖ ÛúÖê•ÖÌ¸ü, ÃÖß ¸üÖ‡™ü 
×´Ö»•ÖÌ, ¸üÖ»±ú ¤êüÆü¸ü®Ö›üÖ±ú 

 (C) »Öß×¾ÖÃÖ ÛúÖê•ÖÌ¸ü, ÛúÖ»ÖÔ ´ÖÖŒÃÖÔ, ¸üÖ»±ú 
¤êüÆü¸ü®Ö›üÖ±ú, ÃÖß. ¸üÖ‡™ü ×´Ö»•ÖÌ 

 (D) »Öß×¾ÖÃÖ ÛúÖê•ÖÌ̧ ü, ÃÖß ¸üÖ‡™ü ×´Ö»•ÖÌ, ÛúÖ»ÖÔ 
´ÖÖŒÃÖÔ, ¸üÖ»±ú ¤êüÆü¸ü®Ö›üÖ±ú 

 
24. ®Öß“Öê “ÖÖ¸ü ¯ÖÏÖ¸ü×´³ÖÛú ÃÖ´ÖÖ•Ö ×¾Ö“ÖÖ¸üÛú Ûúß ÃÖæ“Öß 

¤üß •ÖÖ ¸üÆüß Æîü … ÃÖ´ÖÖ•Ö-¿ÖÖÃ¡Ö, ÃÖ´ÖÖ•Ö-´ÖÖ®Ö¾Ö  
×¾Ö–ÖÖ®Ö ´Öë ˆ®ÖÛêú ¯ÖÏ¾Öê¿Ö Ûêú ÛÎú´ÖÖ®ÖãÃÖÖ¸ü ÃÖÆüß “ÖµÖ®Ö 
Ûúß×•Ö‹ : 

 (A) ‹ÃÖ.‹±ú. ®Ö›êü»Ö, ¸êü›ü×Œ»Ö±ú ²ÖÎÖˆ®Ö, Œ»ÖÖÓ›êü 
»Öê¾Öß-Ã™ÒüÖÃÖ, ²ÖÎÖê×®ÖÃ»ÖÖ ´ÖÖ×»Ö®ÖÖê¾ÖÃÛúß 

 (B) ȩ̂ü›ü×Œ»Ö±ú ²ÖÎÖˆ®Ö, ²ÖÎÖê×®ÖÃ»ÖÖ ´ÖÖ×»Ö®ÖÖê¾ÖÃÛúß, 
‹ÃÖ.‹±ú. ®Ö›êü»Ö, Œ»ÖÖÓ›êü »Öê¾Öß-Ã™ÒüÖÃÖ 

 (C) Œ»ÖÖÓ›êü »Öê¾Öß-Ã™ÒüÖÃÖ, ¸êü›ü×Œ»Ö±ú ²ÖÎÖˆ®Ö, 
²ÖÎÖê×®ÖÃ»ÖÖ ´ÖÖ×»Ö®ÖÖê¾ÖÃÛúß, ‹ÃÖ.‹±ú. ®Ö›êü»Ö 

 (D) ²ÖÎÖê×®ÖÃ»ÖÖ ´ÖÖ×»Ö®ÖÖê¾ÖÃÛúß, Œ»ÖÖÓ›êü »Öê¾Öß-
Ã™ÒüÖÃÖ, ȩ̂ü›ü×Œ»Ö±ú ²ÖÎÖˆ®Ö, ‹ÃÖ.‹±ú. ®Ö›êü»Ö 

25. ÃÖ´ÖÖ•Ö ÃŸÖ¸üßÛú¸üÞÖ †Ö¬ÖÖ×¸üŸÖ Æîü 

 I. ¿Ö×ŒŸÖ 

 II. ÃÖ´¯Ö×¢Ö 

 III. ×Ã£Ö×ŸÖ 

 IV. ÃÖ¢ÖÖ 

 ÃÖÆüß Ûæú™ü ÛúÖ “ÖµÖ®Ö Ûúß×•Ö‹ : 

 Ûæú™ü : 

 (A) I, II †Öî¸ü III (Ûêú¾Ö»Ö) 

 (B) I, II, III †Öî¸ü IV. 

 (C) II, III †Öî¸ü IV (Ûêú¾Ö»Ö) 

 (D) I, III †Öî¸ü IV (Ûêú¾Ö»Ö) 

 

26. ×®Ö´®Ö ´Öë ÃÖê ÛúÖî®Ö ÃÖß ¯ÖÏ×ÛÎúµÖÖ Æîü ×•ÖÃÖ ´ÖÖ¬µÖ´Ö ÃÖê 

×ÛúÃÖß ÃÖÓÝÖšü®Ö Ûêú ‘Ö™üÛúÖë ´Öë ‹Ûú•Öã™üŸÖÖ †ÖŸÖß Æîü 

×•ÖÃÖÃÖê ÃÖÓÝÖšü®Ö ‹Ûú ÆüÖêŸÖÖ Æîü ? 

 (A) ÃÖÖ´ÖÖ×•ÖÛú ÃÖÓÝÖšü®Ö 

 (B) ÃÖÖ´ÖÖ×•ÖÛú ÃÖÓ¿»ÖêÂÖ 

 (C) ÃÖÖ´ÖÖ×•ÖÛú ÃÖÓÛú™ü 

 (D) ÃÖÖ´ÖÖ×•ÖÛú ÃÖÓÃ£ÖÖ 

 

27. ________ ×ÛúÃÖß ¾µÖ×ŒŸÖ Ûúß ¾ÖîµÖ×ŒŸÖÛú ÃÖ´Ö—Ö 

Æîü ×Ûú ¾ÖÆü ×ÛúÃÖß ×¾Ö¿ÖêÂÖ ³Öæ×´ÖÛúÖ ÛúÖê ÛîúÃÖê 

×®Ö³ÖÖµÖê, †£ÖÖÔŸÖ †®µÖ »ÖÖêÝÖÖë Ûúß ˆÃÖÃÖê ŒµÖÖ 

†¯ÖêõÖÖ Æîü ×Ûú ¾ÖÆü ÛîúÃÖê ÛúÖµÖÔ Ûú ȩ̂ü … 

 (A) ³Öæ×´ÖÛúÖ ¯ÖÏŸµÖÖ¿ÖÖ 

 (B) ³Öæ×´ÖÛúÖ †×³ÖÝÖÏÆüÞÖ 

 (C) ³Öæ×´ÖÛúÖ ÛúÖêÂÖ 

 (D) ³Öæ×´ÖÛúÖ ÛúÖ ×®Ö³ÖÖ®ÖÖ 



Paper-II 8  D-05-11 

28. Match the items in List – I with the 
items in List – II and choose the 
correct matching from the code 
given below : 

List – I 
Statements 

List – II 
Concepts 

I. A forecast or 
expectation whose 
existence creates 
the conditions for 
its own fulfilment. 

1. Peer group 
 

II. A term coined to 
describe the 
processes through 
which the self 
concept is formed 

2. Looking 
glass self 

III. A primary group 
composed of 
members who are 
social equals often 
of similar age 
and the same sex. 

3. Self-
fulfilling 
prophecy 

IV. The process by 
which adults learn 
new statuses and 
roles 

4. Adult 
socialization 

 
5. Primary 

socialization 
 Codes : 
  I II III IV 
 (A) 2 3 4 5 
 (B) 3 1 2 4 
 (C) 3 2 1 4 
 (D) 5 4 3 2 
 

29. Match the item in List – I and with 
the items in List – II and choose the 
correct code that matches correctly : 

List – I 
Concepts 

List – II 
Sociologists 

I. The internalisation
of social control 

1. T. Parsons 
 

II. Power as 
asymmetrical 
control 

2. R.K. Merton 

III. Anticipatory 
socialization 

3. B. Malinowski 

IV. Functional 
method and 
evolutionism 

4. G.H. Mead 
 
5. Lewis Coser 

 Codes : 
  I II III IV 
 (A) 1 2 3 4 
 (B) 4 5 3 1 
 (C) 4 5 2 3 
 (D) 2 1 4 5 

 30. Given below are two statements, one 
labelled as Assertion (A) and the 
other labelled as Reason (R) : 

 Assertion (A) : A status, as distinct 

from the individual who may 

occupy it, is simply a collection 

of rights and duties. 

 Reason (R) : The relation between 

any individual and any status 

he holds is somewhat like that 

between the driver of an 

automobile and the driver’s 

place in the machine. 

 In the context of the two statements, 

which one of the following codes is 

correct : 

 Codes : 

 (A) Both (A) and (R) are true and (R) 

is the correct explanation of (A). 

 (B) Both (A) and (R) are true, but 

(R) is not the correct 

explanation of (A). 

 (C) (A) is true, but (R) is false. 

 (D) (A) is false, but (R) is true. 

 

31. Given below are two statements, one 

labelled as Assertion (A) and the 

other labelled as Reason (R) : 

 Assertion (A) : The power of culture 

to shape individuals is awesome, 

it is not necessarily coercive. 

 Reason (R) : All cultures possess 

an enormous potential for 

coerciveness. 

 In the context of the two statements, 

which one of the following codes is 

correct : 

 Codes : 

 (A) Both (A) and (R) are true and 

(R) is the correct explanation 

of (A). 

 (B) Both (A) and (R) are true, but 

(R) is not the correct 

explanation of (A). 

 (C) (A) is true, but (R) is false. 

 (D) (A) is false, but (R) is true. 
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28. ÃÖæ“Öß – I Ûúß ´Ö¤üÖë ÛúÖê ÃÖæ“Öß – II Ûúß ´Ö¤üÖë ÃÖê 
ÃÖã´Öê×»ÖŸÖ Ûúß×•Ö‹ †Öî¸ü ¯ÖÏ¤ü¢Ö Ûæú™ü ÃÖê ÃÖÆüß “ÖµÖ®Ö 
Ûúß×•Ö‹ : 

ÃÖæ“Öß – I 
Ûú£Ö®Ö 

ÃÖæ“Öß – II 
†¾Ö¬ÖÖ¸üÞÖÖ‹Ñ 

I. ³Ö×¾ÖÂµÖ¾ÖÖÞÖß †£Ö¾ÖÖ 
¯ÖÏŸµÖÖ¿ÖÖ ¾ÖÆü Æîü ×•ÖÃÖÛúÖ 
†×ÃŸÖŸ¾Ö ‡ÃÖÛúß ¯ÖæÙŸÖ 
Ûêú ×»Ö‹ †¾ÖÃ£ÖÖ†Öë 
ÛúÖê ×®ÖÙ´ÖŸÖ Ûú¸üŸÖÖ Æîü … 

1. ÃÖ´Ö ÃÖ´ÖæÆü 
 

II. ‹Ûú ¯ÖÖ×¸ü³ÖÖ×ÂÖÛú ¿Ö²¤ü 
•ÖÖê ˆÃÖ ¯ÖÏ×ÛÎúµÖÖ Ûêú 
×®Ö´ÖÖÔÞÖ ÛúÖê ¾ÖÙÞÖŸÖ 
Ûú¸ü®Öê Ûêú ×»Ö‹ ×ÛúµÖÖ 
ÝÖµÖÖ ×•ÖÃÖÃÖê Ã¾Ö: 
†¾Ö¬ÖÖ¸üÞÖÖ ²Ö®ÖŸÖß Æîü … 

2. Ã¾Ö: ¤ü¯ÖÔÞÖ 
(»ÖãØÛúÝÖ Ý»ÖÖÃÖ 
ÃÖê»±ú) 

III. ‹Ûú ¯ÖÏÖ¸ü×´³ÖÛú ÃÖ´ÖæÆü 
×•ÖÃÖ´Öë ÃÖÖ´ÖÖ×•ÖÛú ¥ü×Â™ü 
ÃÖê ÃÖ³Öß ÃÖ´ÖÖ®Ö Æïü ‹Ûú 
Æüß †ÖµÖã †Öî¸ü ÃÖ´ÖÖ®Ö 
Ø»ÖÝÖ Ûêú Æïü … 

3. Ã¾Ö: ¯ÖæÙŸÖ ¤êü¾Ö-
¾ÖÖÞÖß 

 
4. ¾ÖµÖÃÛú 

ÃÖ´ÖÖ•ÖßÛú¸üÞÖ 
IV. ¾ÖÆü ¯ÖÏ×ÛÎúµÖÖ ×•ÖÃÖÃÖê 

¾ÖµÖÃÛú ®Ö‡Ô ×Ã£Ö×ŸÖµÖÖë 
†Öî¸ü ³Öæ×´ÖÛúÖ†Öë Ûêú 
²ÖÖ ȩ̂ü ´Öë ÃÖßÜÖŸÖê Æïü … 

 
5. ¯ÖÏÖ¸ü×´³ÖÛú 

ÃÖ´ÖÖ•ÖßÛú¸üÞÖ 

 Ûæú™ü : 
  I II III IV 
 (A) 2 3 4 5 
 (B) 3 1 2 4 
 (C) 3 2 1 4 
 (D) 5 4 3 2 
 

29. ÃÖæ“Öß – I Ûúß ´Ö¤üÖë ÛúÖê ÃÖæ“Öß – II Ûúß ´Ö¤üÖë ÃÖê 
ÃÖã´Öê×»ÖŸÖ Ûúß×•Ö‹ †Öî¸ü ¯ÖÏ¤ü¢Ö Ûæú™ü ÃÖê ÃÖÆüß ˆ¢Ö¸ü 
ÛúÖ “ÖµÖ®Ö Ûúß×•Ö‹ : 

ÃÖæ“Öß – I 
†¾Ö¬ÖÖ¸üÞÖÖ 

ÃÖæ“Öß – II 
ÃÖ´ÖÖ•Ö¿ÖÖÃ¡Öß 

I. ÃÖÖ´ÖÖ×•ÖÛú ×®ÖµÖ®¡ÖÞÖ 
ÛúÖ †®ŸÖ¸ü-Ûú¸üÞÖßµÖ®Ö 

1. ™üß. ¯ÖÖò¸üÃÖ®ÃÖ 
 

II. ¿Ö×ŒŸÖ †¿ÖÖîÂšü¾Ö 
×®ÖµÖ®¡ÖÞÖ Ûêú ºþ¯Ö ´Öë 

2. †Ö¸ü.Ûêú. ´Ö™Ôü®Ö 

III. †×ÝÖÏ´Ö ÃÖ´ÖÖ•ÖßÛú¸üÞÖ 3. ²Öß. ´ÖÖ×»Ö®ÖÖê¾ÖÃÛúß 
IV. ¾µÖÖ¾ÖÆüÖ×¸üÛú œÓüÝÖ †Öî¸ü 

×¾ÖÛúÖÃÖ¾ÖÖ¤ü 4. •Öß.‹“Ö. ´Öß›ü 

5. »Öê×¾ÖÃÖ ÛúÖê•ÖÌ¸ü 
 Ûæú™ü : 
  I II III IV 
 (A) 1 2 3 4 
 (B) 4 5 3 1 
 (C) 4 5 2 3 
 (D) 2 1 4 5 

 30. ®Öß“Öê ¤üÖê Ûú£Ö®Ö ×¤üµÖê •ÖÖ ¸üÆêü Æïü … ‡®Ö´Öë ÃÖê ¯ÖÏ£Ö´Ö 
ÛúÖê †×³ÖÛú£Ö®Ö (A) †Öî¸ü ×«üŸÖßµÖ ÛúÖê ŸÖÛÔú (R) 
ÛúÆüÖ ÝÖµÖÖ Æîü : 

 †×³ÖÛú£Ö®Ö (A) : ‹Ûú ×Ã£Ö×ŸÖ, •ÖÖê ˆÃÖ 
¾µÖ×ŒŸÖ ÃÖê, •ÖÖê ˆÃÖ ×Ã£Ö×ŸÖ ÛúÖ ¬ÖÖ¸üÛú Æîü, 
×³Ö®®Ö ÆüÖê, •ÖÖê Ûú¢ÖÔ¾µÖÖë †Öî̧ ü †×¬ÖÛúÖ¸üÖë 
ÛúÖ ÃÖÓÝÖÏÆü Æîü … 

 ŸÖÛÔú (R) : ×ÛúÃÖß ¾µÖ×ŒŸÖ †Öî¸ü ˆÃÖ ×Ã£Ö×ŸÖ ÛúÖ 
ÃÖ´²ÖÓ¬Ö ¾ÖîÃÖÖ Æîü •ÖÖê ÃÖ´²Ö®¬Ö ×ÛúÃÖß ÝÖÖ›Ìüß 
Ûêú ›ÒüÖ‡¾Ö¸ü †Öî̧ ü ˆÃÖ µÖÓ¡Ö ´Öë ›ÒüÖ‡¾Ö¸ü Ûêú 
Ã£ÖÖ®Ö ´Öë Æîü … 

 ‡®Ö Ûú£Ö®ÖÖë Ûêú ¯ÖÏÃÖÓÝÖ ´Öë ¯ÖÏ¿®Ö Ûæú™ü ÃÖê ÃÖÆüß ˆ¢Ö ü̧ 
ÛúÖ “ÖµÖ®Ö Ûúß×•Ö‹ : 

 Ûæú™ü : 

 (A) (A) †Öî¸ü (R) ¤üÖê®ÖÖë ÃÖÆüß Æïü †Öî̧ ü (A) ÛúÖ 
(R) ÃÖÆüß Ã¯ÖÂ™üßÛú¸üÞÖ Æîü … 

 (B) (A) †Öî¸ü (R) ¤üÖê®ÖÖë ÃÖÆüß Æïü ¯Ö¸ü®ŸÖã (A) 

ÛúÖ (R) ÃÖÆüß Ã¯ÖÂ™üßÛú¸üÞÖ ®ÖÆüà Æîü … 

 (C) (A) ÃÖÆüß Æîü, ¯Ö¸ü®ŸÖã (R) ÝÖ»ÖŸÖ Æîü … 

 (D) (A) ÝÖ»ÖŸÖ Æîü, ¯Ö¸ü®ŸÖã (R) ÃÖÆüß Æîü … 

 

31. ®Öß“Öê ¤üÖê Ûú£Ö®Ö ×¤üµÖê •ÖÖ ¸üÆêü Æïü ×•Ö®Ö´Öë ÃÖê ¯ÖÏ£Ö´Ö 
†×³ÖÛú£Ö®Ö (A) Æîü †Öî¸ü ×«üŸÖßµÖ ŸÖÛÔú (R) Æîü : 

 †×³ÖÛú£Ö®Ö (A) : ¾µÖ×ŒŸÖ ÛúÖê ºþ¯Ö ¤êü®Öê Ûêú ×»Ö‹ 
ÃÖÓÃÛéú×ŸÖ Ûúß ¿Ö×ŒŸÖ ü̧Öî²Ö¯ÖæÞÖÔ Æîü ×•ÖÃÖÛúÖ 
¤ǘ Ö®ÖÖŸ´ÖÛú ÆüÖê®ÖÖ †Ö¾Ö¿µÖÛú ®ÖÆüà Æîü … 

 ŸÖÛÔú (R) : ÃÖ³Öß ÃÖÓÃÛéú×ŸÖµÖÖë Ûêú ¯ÖÖÃÖ ¤ü´Ö®Ö Ûêú 
×»Ö‹ ³ÖÖ¸üß ÃÖÓ³ÖÖ¾Ö®ÖÖ‹Ñ ÆüÖêŸÖß Æïü … 

 ‡®Ö Ûú£Ö®ÖÖë Ûêú ¯ÖÏÃÖÓÝÖ ´Öë ¯ÖÏ¤ü¢Ö Ûæú™ü ÃÖê ÃÖÆüß ˆ¢Ö¸ü 
ÛúÖ “ÖµÖ®Ö Ûúß×•Ö‹ : 

 Ûæú™ü : 

 (A) (A) †Öî¸ü (R) ¤üÖê®ÖÖë ÃÖÆüß Æïü, ¯Ö¸ü®ŸÖã (A) 

ÛúÖ (R) ÃÖÆüß Ã¯ÖÂ™üßÛú¸üÞÖ Æîü … 

 (B) (A) †Öî¸ü (R) ¤üÖê®ÖÖë ÃÖÆüß Æïü, ¯Ö¸ü®ŸÖã (A) 

ÛúÖ (R) ÃÖÆüß Ã¯ÖÂ™üßÛú¸üÞÖ ®ÖÆüà Æîü … 

 (C) (A) ÃÖÆüß Æîü, ¯Ö¸ü®ŸÖã (R) ÝÖ»ÖŸÖ Æîü … 

 (D) (A) ÝÖ»ÖŸÖ Æîü, ¯Ö¸ü®ŸÖã (R) ÃÖÆüß Æîü … 
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32. “Felt difficulty in fulfilling role 

obligations” is known as  

 (A) interrole 

 (B) role variation 

 (C) role strain 

 (D) role ambiguity  

 

33. Given below are two statements, one 

labelled as Assertion (A), and the 

other labelled as Reason (R) : 

 Assertion (A) : Deviant behaviour 

is hereditary. 

 Reason (R) : A person becomes 

deviant because of an excess of 

definitions favourable to 

violation of law over 

definitions unfavourable to 

violation of law. 

 In the context of the two statements, 

which one of the following is  

correct : 

 Codes : 

 (A) Both (A) and (R) are true and 

(R) is the correct explanation 

of (A). 

 (B) Both (A) and (R) are true, but 

(R) is not the correct 

explanation of (A). 

 (C) (A) is true, but (R) is false. 

 (D) (A) is false, but (R) is true. 

 

34. Functions of education are/is 

 I. Transmission of culture 

 II. Social Integration 

 III. Social Control 

 IV. Social Conflict 

 Choose the correct code given below : 

 Codes : 

 (A) I and II are correct. 

 (B) III and IV are correct. 

 (C) I, II and III are correct. 

 (D) II, III and IV are correct. 

35. Find out the mode for the following 

data set of entrance examination 

scores : 

 450 690 280 450 760 

 540 520 450 430 530 

 (A) 485  

 (B) 510 

 (C) 450  

 (D) 550 

 

36. Match the items in List – I with 

items in List – II and choose the 

correct code of matching : 

List – I 

Concepts 

List – II 

Sociologists 

I. Idealisational 

and Sensate 

Cultures 

1. R.K. Merton 

 

II. Cosmopolitans 

and locals 

2. Pitrim 

Sorokin 

III. Sick Role and 

Patient Role 

3. Talcot 

Parsons 

IV. Structure and 

Function 

4. Radcliffe 

Brown 

 5. Max Weber 

 Codes : 

  I II III IV 

 (A) 2 3 1 4 

 (B) 5 1 3 2 

 (C) 3 2 5 1 

 (D) 2 1 3 4 
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32. ‘³Öæ×´ÖÛúÖ Ûúß ´ÖÖÑÝÖ ´Öë •Ö²Ö Ûú×šü®ÖÖ‡Ô ÛúÖ †®Öã³Ö¾Ö 
×ÛúµÖÖ •ÖÖ‹’ ŸÖ²Ö ‡ÃÖê ÛúÆüŸÖê Æïü 

 (A) †®ŸÖ¸ü-³Öæ×´ÖÛúÖ 

 (B) ³Öæ×´ÖÛúÖ ´Öë ×¾Ö×³Ö®®ÖŸÖÖ 

 (C) ³Öæ×´ÖÛúÖ ¤ü²ÖÖ¾Ö 

 (D) ³Öæ×´ÖÛúÖ Ûúß †Ã¯ÖÂ™üŸÖÖ 
 

33. ®Öß“Öê ¤üÖê Ûú£Ö®Ö ×¤üµÖê ÝÖ‹ Æïü ×•Ö®Ö ´Öë ÃÖê ¯ÖÏ£Ö´Ö ÛúÖê 
†×³ÖÛú£Ö®Ö (A) †Öî¸ü ×«üŸÖßµÖ ÛúÖê ŸÖÛÔú (R) ÛúÆüÖ 
ÝÖµÖÖ Æîü : 

 †×³ÖÛú£Ö®Ö (A) : ¾µÖ¾ÖÆüÖ¸ü ×¾Ö“Ö»Ö®Ö ¾ÖÓ¿ÖÝÖŸÖ 
Æîü … 

 ŸÖÛÔú (R) : ¾µÖ×ŒŸÖ Ûêú ¾µÖ¾ÖÆüÖ¸ü ´Öë ×¾Ö“Ö»Ö®Ö ŸÖ²Ö 
†ÖŸÖÖ Æîü •Ö²Ö ˆÃÖÛúß †×¬ÖÛú ³Öæ×´ÖÛúÖ‹Ñ 
ˆ®Ö ³Öæ×´ÖÛúÖ†Öë Ûêú ×»Ö‹ ²Ö®Öê ×®ÖµÖ´ÖÖë Ûêú 
¯ÖÏ×ŸÖÛæú»Ö ÆüÖê®Öê Ûêú Ã£ÖÖ®Ö ¯Ö¸ü †®ÖãÛæú»Ö ÆüÖêŸÖê 
Æïü … 

 ‡ÃÖ ¯ÖÏÃÖÓÝÖ ´Öë ‡®Ö ¤üÖê®ÖÖë Ûú£Ö®ÖÖë ´Öë ÃÖê ÛúÖî®Ö ÃÖÖ 
Ûú£Ö®Ö ÃÖÆüß Æîü ? 

 Ûæú™ü : 
 (A) (A) †Öî¸ü (R) ¤üÖê®ÖÖë ÃÖÆüß Æïü †Öî¸ü (A) 

ÛúÖ (R) ÃÖÆüß Ã¯ÖÂ™üßÛú¸üÞÖ Æîü … 

 (B) (A) †Öî¸ü (R) ¤üÖê®ÖÖë ÃÖÆüß Æïü †Öî¸ü (A) 

ÛúÖ (R) ÃÖÆüß Ã¯ÖÂ™üßÛú¸üÞÖ ®ÖÆüà Æîü … 

 (C) (A) ÃÖÆüß Æîü, ¯Ö¸ü®ŸÖã (R) ÝÖ»ÖŸÖ Æîü … 

 (D) (A) ÝÖ»ÖŸÖ Æîü, ¯Ö¸ü®ŸÖã (R) ÃÖÆüß Æîü … 

 

34. ×¿ÖõÖÖ Ûêú ÛúÖµÖÔ Æîü/ÛúÖµÖÔ Æïü 

 I. ÃÖÓÃÛéú×ŸÖ ÛúÖ ÃÖÓ“Ö¸üÞÖ 

 II. ÃÖÖ´ÖÖ×•ÖÛú ÃÖÓ¿»ÖêÂÖ 

 III. ÃÖÖ´ÖÖ×•ÖÛú ×®ÖµÖ®¡ÖÞÖ 

 IV. ÃÖÖ´ÖÖ×•ÖÛú ÃÖÓÛú™ü 
 ®Öß“Öê ×¤ü‹ ÝÖ‹ Ûæú™üÖë ´Öë ÃÖê ÃÖÆüß Ûæú™ü ÛúÖ “ÖµÖ®Ö 

Ûúß×•Ö‹ : 

 Ûæú™ü : 
 (A) I †Öî¸ü II ÃÖÆüß Æïü … 

 (B) III †Öî¸ü IV ÃÖÆüß Æïü … 

 (C) I, II †Öî¸ü III ÃÖÆüß Æïü … 

 (D) II, III †Öî¸ü IV ÃÖÆüß Æïü … 

35. ×®Ö´®Ö †ÖÑÛú›ÌüÖë, •ÖÖê ¯ÖÏ¾Öê¿Ö ¯Ö¸üßõÖÖ ´Öë ×»Ö‹ ÝÖ‹ 
†ÓÛúÖë ¯Ö¸ü †Ö¬ÖÖ×¸üŸÖ ÃÖÖ´ÖÝÖÏß Æîü, ÛúÖ ²ÖÆãü»ÖÛú ŒµÖÖ 
ÆüÖêÝÖÖ : 

 450 690 280 450 760 

 540 520 450 430 530 

 (A) 485  

 (B) 510 

 (C) 450  

 (D) 550 

 

36. ÃÖæ“Öß – I Ûúß ´Ö¤üÖë ÛúÖê ÃÖæ“Öß – II Ûúß ´Ö¤üÖë ÃÖê 

ÃÖã´Öê×»ÖŸÖ Ûúß×•Ö‹ †Öî¸ü ÃÖã´Öê×»ÖŸÖ Ûæú™ü ÛúÖ “ÖµÖ®Ö 

Ûúß×•Ö‹ : 

ÃÖæ“Öß ü – I 

†¾Ö¬ÖÖ¸üÞÖÖ 

ÃÖæ“Öß – II 

ÃÖ´ÖÖ•Ö¿ÖÖÃ¡Öß 

I. †Ö¤ü¿ÖáµÖ ‹¾ÖÓ 

ÃÖê®ÖÃÖê™ü ÃÖÓÃÛéú×ŸÖµÖÖÑ 

1. †Ö¸ü.Ûêú. ´Ö™Ôü®Ö 

 

II. ´ÖÆüÖ®ÖÝÖ¸üßµÖ ‹¾ÖÓ 

Ã£ÖÖ®ÖßµÖ ×®Ö¾ÖÖÃÖß 

2. ×¯Ö×™Òü´Ö ÃÖÖê¸üÖê×Ûú®Ö 

III. ¹ýÝÞÖ ³Öæ×´ÖÛúÖ ‹¾ÖÓ 

¸üÖêÝÖß ³Öæ×´ÖÛúÖ 

3. ™üÖ»ÖÛúÖê™ü ¯ÖÖÃÖÔ®ÃÖ 

IV. ÃÖÓ¸ü“Ö®ÖÖ ‹¾ÖÓ ÛúÖµÖÔ 4. ¸êü›ü×Œ»Ö±ú ²ÖÎÖˆ®Ö 

 5. ´ÖîŒÃÖ ¾Öê²Ö¸ü 

 Ûæú™ü : 

  I II III IV 

 (A) 2 3 1 4 

 (B) 5 1 3 2 

 (C) 3 2 5 1 

 (D) 2 1 3 4 
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37. Given below are two statements, one 

labelled as Assertion (A) and the 

other labelled as Reason (R) : 

 Assertion (A) : When members of a 

social aggregate 

interact it becomes a 

social group. 

 Reason (R) : Fellow travellers in 

a railway 

compartment start 

playing cards and 

share food among 

themselves, they 

form a social group. 

 In the context of the above two 

statements, choose the correct code 

below : 

 (A) Both (A) and (R) are true and 

(R) is the correct explanation 

of (A). 

 (B) Both (A) and (R) are true, but 

(R) is not the correct 

explanation of (A). 

 (C) (A) is true, but (R) is false. 

 (D) (A) is false, but (R) is true. 

 

38. One or more of the following is/are 

primary groups : 

 I. The family 

 II. Children’s play group 

 III. Reference group 

 IV. Neighbourhood groups 

 Choose the correct code for the 

correct answer. 

 Codes : 

 (A) I, II and III are correct. 

 (B) I and II are correct. 

 (C) I, II and IV are correct. 

 (D) II, III and IV are correct. 

39. Match the items in List – I with the 

items in List – II and choose the 

correct code to indicate your answer : 

List – I 

Categories 

List – II 

Concepts 

I. Ingroup 1. Face to Face 

Relationship 

 

II. Outgroup 2. They group 

III. Small group 3. We group 

IV. Primary group 4. Diad 

 5. Reference 

group 

 Codes : 

  I II III IV 

 (A) 1 4 2 5 

 (B) 5 3 1 2 

 (C) 3 2 4 1 

 (D) 4 1 5 3 

 

40. Find out the median in the following 

series of entrance test scores by 

choosing the correct code : 

 Test scores : 280,  430,  450,  450,  

450,  520, 530,  540,  

690,  760. 

 Codes : 

 (A) 450  

 (B) 520 

 (C) 485  

 (D) 525 
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37. ®Öß“Öê ¤üÖê Ûú£Ö®Ö ×¤üµÖê •ÖÖ ¸üÆêü Æïü ×•Ö®Ö´Öë ÃÖê ¯ÖÏ£Ö´Ö 
ÛúÖê †×³ÖÛú£Ö®Ö (A) †Öî¸ü ×«üŸÖßµÖ ÛúÖê ŸÖÛÔú (R) 
ÛúÆüÖ ÝÖµÖÖ Æîü : 

 †×³ÖÛú£Ö®Ö (A) : •Ö²Ö ×ÛúÃÖß ÃÖÖ´ÖÖ×•ÖÛú Ûãú»Ö 
•ÖÖê›Ìü ×ÝÖ®ÖŸÖß Ûêú ÃÖ¤üÃµÖ †Ö¯ÖÃÖ ´Öë 
¾µÖ¾ÖÆüÖ¸ü Ûú¸ü®Öê »ÖÝÖŸÖê Æïü ŸÖ²Ö ‹êÃÖÖ ÃÖ´ÖæÆü 
ÃÖÖ´ÖÖ×•ÖÛú ÃÖ´ÖæÆü ÛúÆü»ÖÖŸÖÖ Æîü … 

 ŸÖÛÔú (R) : ¸êü»Ö Ûêú ×›ü²²Öê ´Öë ÃÖÆüµÖÖ¡Öß †Ö¯ÖÃÖ ´Öë 
ŸÖÖ¿Ö ÜÖê»Ö®Öê »ÖÝÖŸÖê Æïü †Öî¸ü †Ö¯ÖÃÖ ´Öë 
ÜÖÖª-¯Ö¤üÖ£ÖÔ ²ÖÖÑ™üÛú¸ü ÜÖÖŸÖê Æïü, ‹êÃÖê ´Öë 
ˆ®ÖÛúÖ ÃÖÖ´ÖÖ×•ÖÛú ÃÖ´ÖæÆü ²Ö®Ö •ÖÖŸÖÖ Æîü … 

 ˆ¯Ö¸ü ×»ÖÜÖê Ûú£Ö®ÖÖë Ûêú ÃÖ®¤ü³ÖÔ ´Öë ÃÖÆüß Ûæú™ü ÛúÖ 
“ÖµÖ®Ö Ûúß×•Ö‹ : 

 Ûæú™ü : 

 (A) (A) †Öî¸ü (R) ¤üÖê®ÖÖë ÃÖÆüß Æïü †Öî¸ü (A) 

ÛúÖ (R) ÃÖÆüß Ã¯ÖÂ™üßÛú¸üÞÖ Æîü … 

 (B) (A) †Öî¸ü (R) ¤üÖê®ÖÖë ÃÖÆüß Æïü ¯Ö¸ü®ŸÖã (A) 

ÛúÖ (R) ÃÖÆüß Ã¯ÖÂ™üßÛú¸üÞÖ ®ÖÆüà Æîü … 

 (C) (A) ÃÖÆüß Æîü, ¯Ö¸ü®ŸÖã (R) ÝÖ»ÖŸÖ Æîü … 

 (D) (R) ÃÖÆüß Æîü, ¯Ö¸ü®ŸÖã (A) ÝÖ»ÖŸÖ Æîü … 

 

38. ×®Ö´®Ö ´Öë ÃÖê ‹Ûú †£Ö¾ÖÖ †×¬ÖÛú ¯ÖÏÖ¸ü×´³ÖÛú ÃÖ´ÖæÆü 
Æîü/Æïü : 

 I. ¯Ö×¸ü¾ÖÖ¸ü 

 II. ²ÖÖ»ÖÛúÖë ÛúÖ ÛÎúß›ÌüÖ ÃÖ´ÖæÆü 

 III. ¯ÖÏÃÖÓÝÖ ÃÖ´ÖæÆü 

 IV. ¯Ö›ÌüÖêÃÖ ÃÖ´ÖæÆü 

 ¯ÖÏ¤ü¢Ö ÛúÖê›ü ´Öë ÃÖê ÃÖÆüß Ûæú™ü ÛúÖ “ÖµÖ®Ö Ûúß×•Ö‹ … 

 Ûæú™ü : 

 (A) I, II †Öî¸ü III ÃÖÆüß Æîü … 

 (B) I †Öî¸ü II ÃÖÆüß Æîü … 

 (C) I, II †Öî¸ü IV ÃÖÆüß Æîü … 

 (D) II, III †Öî¸ü IV ÃÖÆüß Æîü … 

39. ÃÖæ“Öß – I Ûúß ´Ö¤üÖë ÛúÖê ÃÖæ“Öß – II Ûúß ´Ö¤üÖë ÃÖê 
ÃÖã´Öê×»ÖŸÖ Ûúß×•Ö‹ †Öî̧ ü ¯ÖÏ¤ü¢Ö Ûæú™ü ÃÖê ÃÖÆüß Ûæú™ü 
ÛúÖ “ÖµÖ®Ö Ûúß×•Ö‹ : 

ÃÖæ“Öß – I 

ÁÖêÞÖß 

ÃÖæ“Öß – II 

†¾Ö¬ÖÖ¸üÞÖÖ 

I. †®ŸÖÃÖÔ´ÖæÆü 1. †Ö´Ö®Öê-ÃÖÖ´Ö®Öê ÛúÖ ÃÖ´²Ö®¬Ö 

II. ²ÖÖÊ ÃÖ´ÖæÆü 2. ¾Öê ÃÖ´ÖæÆü 

III. »Ö‘Öã ÃÖ´ÖæÆü 3. Æü´Ö ÃÖ´ÖæÆü 

IV. ¯ÖÏÖ¸ü×´³ÖÛú ÃÖ´ÖæÆü 4. ×«ü¾µÖ×ŒŸÖ 

 5. ¯ÖÏÃÖÓÝÖ ÃÖ´ÖæÆü 

 Ûæú™ü : 

  I II III IV 

 (A) 1 4 2 5 

 (B) 5 3 1 2 

 (C) 3 2 4 1 

 (D) 4 1 5 3 

 

40. ¯ÖÏ¾Öê¿Ö ¯Ö¸üßõÖÖ Ûêú †Ö¬ÖÖ¸ü ¯Ö¸ü ŸÖîµÖÖ¸ü Ûúß ÝÖ‡Ô ×®Ö´®Ö 

ÀÖéÓÜÖ»ÖÖ†Öë ´Öë ´Ö¬µÖÃ£Ö ÛúÖê œæÑü×œü‹ : 

 ¯Ö¸üßõÖÖ ÀÖéÓÜÖ»ÖÖ : 280,  430,  450,  450,  

450,  520, 530,  540,  

690,  760. 

 Ûæú™ü : 

 (A) 450 

 (B) 520 

 (C) 485 

 (D) 525 
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41. Given below are two statements, one 

is labelled as Assertion (A) and the 

other is labelled as Reason (R) : 

 Assertion (A) : Small groups have a 

determining influence 

upon social life. 

 Reason (R) : Small groups have 

been shaped by 

society much more 

than they have 

shaped. 

 In the context of the above two 

statements, choose the correct code 

from the following : 

 Codes : 

 (A) Both (A) and (R) are true and 

(R) is the explanation of (A). 

 (B) Both (A) and (R) are true, but 

(R) is not the explanation of 

(A). 

 (C) (A) is true, but (R) is false. 

 (D) (A) is false, but (R) is true. 

 

42. Given below are two statements, one 

is labelled as Assertion (A) and the 

other is labelled as Reason (R) : 

 Assertion (A) : The rules of incest 

and exogamy 

always coincide. 

 Reason (R) : The rules of incest 

and exogamy are 

intended to debar 

immature persons 

from sexual activity. 

 In the context of the above two 

statements, choose the correct code 

from the following : 

 Codes : 

 (A) Both (A) and (R) are true and 

(R) is the explanation of (A). 

 (B) Both (A) and (R) are true, but 

(R) is not the explanation of 

(A). 

 (C) (A) is true, but (R) is false. 

 (D) (A) is false, but (R) is true. 

43. Given below are two statements, one 

is labelled as Assertion (A) and the 

other is labelled as Reason (R) : 

 Assertion (A) : An upper class and 

a lower class are 

negative reference 

groups for each 

other. 

 Reason (R) : Differential social 

interaction leads to 

mutual antagonism 

between social 

classes. 

 In the context of the above two 

statements, choose the correct code 

from the following : 

 Codes : 

 (A) Both (A) and (R) are true and 

(R) is the explanation of (A). 

 (B) Both (A) and (R) are true, but 

(R) is not the explanation of (A). 

 (C) (A) is true, but (R) is false. 

 (D) (A) is false, but (R) is true. 

 
44. Given below are two statements, one 

is labelled as Assertion (A) and the 

other is labelled as Reason (R) : 

 Assertion (A) : Life in a tribal 

society is simple 

and integrated. 

 Reason (R) : The maintenance of 

order in tribal society 

depends more on 

folkways and more 

on traditions.  

 In the context of the above two 

statements, choose the correct code 

from the following : 

 Codes : 

 (A) Both (A) and (R) are true and 

(R) is the explanation of (A). 

 (B) Both (A) and (R) are true, but 

(R) is not the explanation of 

(A). 

 (C) (A) is true, but (R) is false. 

 (D) (A) is false, but (R) is true. 
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41. ®Öß“Öê ¤üÖê Ûú£Ö®Ö ×¤üµÖê •ÖÖ ¸üÆêü Æïü ×•Ö®Ö´Öë ÃÖê ¯ÖÏ£Ö´Ö 
ÛúÖê †×³ÖÛú£Ö®Ö (A) ÛúÆüÖ ÝÖµÖÖ Æîü †Öî¸ü ×«üŸÖßµÖ 
ÛúÖê ŸÖÛÔú (R) ÛúÆüÖ Æîü : 

 †×³ÖÛú£Ö®Ö (A) : ÃÖÖ´ÖÖ×•ÖÛú •Öß¾Ö®Ö ¯Ö¸ü »Ö‘Öã 
ÃÖ´ÖæÆüÖë ÛúÖ ×®Ö¿“ÖµÖÖŸ´ÖÛú ¯ÖÏ³ÖÖ¾Ö ÆüÖêŸÖÖ Æîü … 

 ŸÖÛÔú (R) : »Ö‘Öã ÃÖ´ÖæÆüÖë ÛúÖê ×•ÖŸÖ®ÖÖ ÃÖ´ÖÖ•Ö ºþ¯Ö 
¤êüŸÖÖ Æîü, ÃÖ´ÖÖ•Ö ÛúÖê ˆŸÖ®ÖÖ »Ö‘Öã ÃÖ´ÖæÆü ºþ¯Ö 
®ÖÆüà ¤êüŸÖê … 

 ˆ¯Ö¸ü ×»ÖÜÖê Ûú£Ö®ÖÖë Ûêú ÃÖ®¤ü³ÖÔ ´Öë ÛúÖî®Ö ÃÖÖ ‹Ûú 
Ûæú™ü ÃÖÆüß Æîü ? 

 Ûæú™ü : 

 (A) (A) †Öî¸ü (R) ¤üÖê®ÖÖë ÃÖÆüß Æïü †Öî¸ü (A) 

ÛúÖ (R) ÃÖÆüß Ã¯ÖÂ™üßÛú¸üÞÖ Æîü … 

 (B) (A) †Öî¸ü (R) ¤üÖê®ÖÖë ÃÖÆüß Æïü †Öî¸ü (A) 

ÛúÖ (R) ÃÖÆüß Ã¯ÖÂ™üßÛú¸üÞÖ ®ÖÆüà Æîü … 

 (C) (A) ÃÖÆüß Æîü, ¯Ö¸ü®ŸÖã (R) ÝÖ»ÖŸÖ Æîü … 

 (D) (A) ÝÖ»ÖŸÖ Æîü, ¯Ö¸ü®ŸÖã (R) ÃÖÆüß Æîü … 

 

42. ®Öß“Öê ¤üÖê Ûú£Ö®Ö ×¤üµÖê •ÖÖ ¸üÆêü Æïü ×•Ö®Ö´Öë ÃÖê ¯ÖÏ£Ö´Ö 
ÛúÖê †×³ÖÛú£Ö®Ö (A) †Öî¸ü ×«üŸÖßµÖ ÛúÖê ŸÖÛÔú (R) 
ÛúÆüÖ ÝÖµÖÖ Æîü : 

 †×³ÖÛú£Ö®Ö (A) : ÝÖÖê¡ÖÝÖ´Ö®Ö Ûêú ×®ÖµÖ´Ö †Öî¸ü 
×¾Ö•ÖÖŸÖßµÖ ×¾Ö¾ÖÖÆü ÃÖ¤îü¾Ö ‹Ûú Æüß ÆüÖê •ÖÖŸÖê 
Æïü … 

 ŸÖÛÔú (R) : ÝÖÖê¡Ö ÝÖ´Ö®Ö Ûêú ×®ÖµÖ´Ö †Öî¸ü ×¾Ö•ÖÖŸÖßµÖ 
×¾Ö¾ÖÖÆü Ûúß ´ÖÓ¿ÖÖ †¾ÖµÖÃÛú ¾µÖ×ŒŸÖµÖÖë ÛúÖê 
ÃÖÓ³ÖÖêÝÖ Ûú¸ü®Öê ÃÖê ¸üÖêÛú®Öê Ûúß ÆüÖêŸÖß Æîü … 

 ˆ¯Ö¸ü ×»ÖÜÖê Ûú£Ö®ÖÖë Ûêú ÃÖ®¤ü³ÖÔ ´Öë ÛúÖî®Ö ÃÖÖ ‹Ûú 
Ûæú™ü ÃÖÆüß Æîü ? 

 Ûæú™ü : 

 (A) (A) †Öî¸ü (R) ¤üÖê®ÖÖë ÃÖÆüß Æïü †Öî¸ü (A) 

ÛúÖ (R) ÃÖÆüß Ã¯ÖÂ™üßÛú¸üÞÖ Æîü … 

 (B) (A) †Öî¸ü (R) ¤üÖê®ÖÖë ÃÖÆüß Æïü †Öî¸ü (A) 

ÛúÖ (R) ÃÖÆüß Ã¯ÖÂ™üßÛú¸üÞÖ ®ÖÆüà Æîü … 

 (C) (A) ÃÖÆüß Æîü, ¯Ö¸ü®ŸÖã (R) ÝÖ»ÖŸÖ Æîü … 

 (D) (A) ÝÖ»ÖŸÖ Æîü, ¯Ö¸ü®ŸÖã (R) ÃÖÆüß Æîü … 

43. ®Öß“Öê ¤üÖê Ûú£Ö®Ö ×¤üµÖê ÝÖ‹ Æïü ×•Ö®Ö´Öë ÃÖê ¯ÖÏ£Ö´Ö ÛúÖê 
†×³ÖÛú£Ö®Ö (A) †Öî¸ü ×«üŸÖßµÖ ÛúÖê ŸÖÛÔú (R) ÛúÆüÖ 
ÝÖµÖÖ Æîü : 

 †×³ÖÛú£Ö®Ö (A) : ˆ““Ö ¾ÖÝÖÔ †Öî¸ü ×®Ö´®Ö ¾ÖÝÖÔ 
‹Ûú ¤æüÃÖ¸êü Ûêú ×»Ö‹ ®ÖÛúÖ¸üÖŸ´ÖÛú ÃÖÓ¤ü³ÖÔ 
ÃÖ´ÖæÆü  Æïü … 

 ŸÖÛÔú (R) : ÃÖÖ´ÖÖ×•ÖÛú ¾ÖÖŸÖÖÔ»ÖÖ¯Ö/¾µÖ¾ÖÆüÖ¸ü Ûúß 
×¾Ö×³Ö®®ÖŸÖÖ ÃÖÖ´ÖÖ×•ÖÛú ¾ÖÝÖÖí ´Öë ¯ÖÖ¸üÃ¯Ö×¸üÛú 
¾Öî´Ö®ÖÃµÖ »ÖÖŸÖß Æîü … 

 ˆ¯Ö¸ü ×»ÖÜÖê Ûú£Ö®ÖÖë Ûêú ÃÖ®¤ü³ÖÔ ´Öë ÛúÖî®Ö ÃÖÖ ‹Ûú 
Ûæú™ü ÃÖÆüß Æîü ? 

 Ûæú™ü : 

 (A) (A) †Öî¸ü (R) ¤üÖê®ÖÖë ÃÖÆüß Æïü †Öî¸ü (A) 

ÛúÖ (R) ÃÖÆüß Ã¯ÖÂ™üßÛú¸üÞÖ Æîü … 

 (B) (A) †Öî¸ü (R) ¤üÖê®ÖÖë ÃÖÆüß Æïü †Öî¸ü (A) 

ÛúÖ (R) ÃÖÆüß Ã¯ÖÂ™üßÛú¸üÞÖ ®ÖÆüà Æîü … 

 (C) (A) ÃÖÆüß Æîü, ¯Ö¸ü®ŸÖã (R) ÝÖ»ÖŸÖ Æîü … 

 (D) (A) ÝÖ»ÖŸÖ Æîü, ¯Ö¸ü®ŸÖã (R) ÃÖÆüß Æîü … 

 

44. ®Öß“Öê ¤üÖê Ûú£Ö®Ö ×¤üµÖê •ÖÖ ¸üÆêü Æïü ×•Ö®Ö´Öë ÃÖê ¯ÖÏ£Ö´Ö 
ÛúÖê †×³ÖÛú£Ö®Ö (A) †Öî¸ü ×«üŸÖßµÖ ÛúÖê ŸÖÛÔú (R) 
ÛúÆüÖ ÝÖµÖÖ Æîü : 

 †×³ÖÛú£Ö®Ö (A) : •Ö®Ö•ÖÖŸÖßµÖ ÃÖ´ÖÖ•Ö ´Öë 
•Öß¾Ö®Ö ÃÖ¸ü»Ö †Öî¸ü ‹ÛúßÛéúŸÖ ÆüÖêŸÖÖ Æîü … 

 ŸÖÛÔú (R) : •Ö®Ö•ÖÖŸÖßµÖ ÃÖ´ÖÖ•Ö ´Öë †®Öã¿ÖÖÃÖ®Ö ÛúÖê 
Ûú×ŸÖ¯ÖµÖ »ÖÖêÛú ´ÖÖ®µÖŸÖÖ†Öë †Öî¸ü 
¯Ö¸ü´¯Ö¸üÖ†Öë ÃÖê ²Ö®ÖÖµÖê ¸üÜÖÖ •ÖÖŸÖÖ Æîü …  

 ˆ¯Ö¸ü ×»ÖÜÖê Ûú£Ö®ÖÖë Ûêú ÃÖ®¤ü³ÖÔ ´Öë ÛúÖî®Ö ÃÖÖ ‹Ûú 
Ûæú™ü ÃÖÆüß Æîü ? 

 Ûæú™ü : 

 (A) (A) †Öî¸ü (R) ¤üÖê®ÖÖë ÃÖÆüß Æïü †Öî¸ü (A) 

ÛúÖ (R) ÃÖÆüß Ã¯ÖÂ™üßÛú¸üÞÖ Æîü … 

 (B) (A) †Öî¸ü (R) ¤üÖê®ÖÖë ÃÖÆüß Æïü †Öî¸ü (A) 

ÛúÖ (R) ÃÖÆüß Ã¯ÖÂ™üßÛú¸üÞÖ ®ÖÆüà Æîü … 

 (C) (A) ÃÖÆüß Æîü, ¯Ö¸ü®ŸÖã (R) ÝÖ»ÖŸÖ Æîü … 

 (D) (A) ÝÖ»ÖŸÖ Æîü, ¯Ö¸ü®ŸÖã (R) ÃÖÆüß Æîü … 
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45. Given below are two statements, one 

is labelled as Assertion (A) and the 

other is labelled as Reason (R) : 

 Assertion (A) : The urban groups 

have a reputation for 

being namelessness. 

 Reason (R) : By virtue of its size 

and population of 

city cannot be a 

primary group. 

 In the context of the above two 

statements, choose the correct code 

from the following : 

 Codes : 

 (A) Both (A) and (R) are true, but 

(R) is the explanation of (A). 

 (B) Both (A) and (R) are true, but 

(R) is not the explanation of 

(A). 

 (C) (A) is true, but (R) is false. 

 (D) (A) is false, but (R) is true. 

 
46. Match the items in List – I with the 

items in List – II and choose the 

correct code given below : 

List – I 

Concepts 

List – II 

Sociologists 

I. Community 1. Robert 

Redfield 

 

II. Law of Three 

Stages 

2. Karl Marx 

III. Dialectical 

Materialism 

3. Ferdinand 

Tonnies 

IV. Little Tradition 4. Auguste 

Comte 

 5. Herbert 

Spencer 

 Codes : 

  I II III IV 

 (A) 1 3 4 5 

 (B) 4 2 3 1 

 (C) 3 4 2 1 

 (D) 5 2 3 4 

47. Match the items in List – I below 

with items in List – II and choose the 

correct code for your answer : 

List – I 

Authors 

List – II 

Books 

I. Dahrendorf, 

Ralph 

1. Post Industrial 

Society 

 

II. Daniel Bell 2. Class and 

Class Conflict 

in Industrial 

Society 

III. Durkheim, 

Emile 

3. The Human 

side of 

Enterprise 

IV. Douglas 

McGregor 

4. The Division 

of Labour in 

Society 

 5. Industry and 

Society 
 Codes : 
  I II III IV 
 (A) 2 1 4 3 
 (B) 3 5 1 4 
 (C) 1 2 3 4 
 (D) 4 2 5 3 
 

48. Match the items in List – I below 

with items in List – II and choose the 

correct code for your answer : 

List – I 

Concepts 

List – II 

Sociologists 

I. Functionalism 1. C. Wright 

Mills 

 

II. Latent 

Function 

2. F. Durkheim 

III. Symbolic 

Interactionism 

3. R.K. Merton 

IV. Conflict 

Theory 

4. G.H. Mead 

 5. T. Parsons 
 Codes : 
  I II III IV 
 (A) 2 3 4 1 
 (B) 5 3 2 4 
 (C) 1 4 5 2 
 (D) 4 2 1 3 
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45. ®Öß“Öê ¤üÖê Ûú£Ö®Ö ×¤üµÖê ÝÖ‹ Æïü ×•Ö®Ö´Öë ÃÖê ¯ÖÏ£Ö´Ö ÛúÖê 
†×³ÖÛú£Ö®Ö (A) †Öî¸ü ×«üŸÖßµÖ ÛúÖê ŸÖÛÔú (R) ÛúÆüÖ 
ÝÖµÖÖ Æîü : 

 †×³ÖÛú£Ö®Ö (A) : ®ÖÝÖ¸üßµÖ ÃÖ´ÖæÆü †¯Ö®Öß            
ÃÖÓ–ÖÖ×¾ÖÆüß®ÖŸÖÖ Ûêú ×»Ö‹ •ÖÖ®Öê •ÖÖŸÖê Æïü … 

 ŸÖÛÔú (R) : ®ÖÝÖ¸ü †¯Ö®Öê †ÖÛúÖ¸ü †Öî̧ ü •Ö®ÖÃÖÓÜµÖÖ 
Ûêú ÛúÖ¸üÞÖ ¯ÖÏÖ£Ö×´ÖÛú ÃÖ´ÖæÆü ®ÖÆüà ÆüÖê       
ÃÖÛúŸÖê … 

 ˆ¯Ö¸ü ×»ÖÜÖê Ûú£Ö®ÖÖë Ûêú ÃÖ®¤ü³ÖÔ ´Öë ÛúÖî®Ö ÃÖÖ ‹Ûú 
Ûæú™ü ÃÖÆüß Æîü ? 

 Ûæú™ü : 

 (A) (A) †Öî¸ü (R) ¤üÖê®ÖÖë ÃÖÆüß Æïü †Öî¸ü (A) 

ÛúÖ (R) ÃÖÆüß Ã¯ÖÂ™üßÛú¸üÞÖ Æîü … 

 (B) (A) †Öî¸ü (R) ¤üÖê®ÖÖë ÃÖÆüß Æïü ¯Ö¸ü®ŸÖãü (A) 

ÛúÖ (R) ÃÖÆüß Ã¯ÖÂ™üßÛú¸üÞÖ ®ÖÆüà Æîü … 

 (C) (A) ÃÖÆüß Æîü, ¯Ö¸ü®ŸÖã (R) ÝÖ»ÖŸÖ Æîü … 

 (D) (A) ÝÖ»ÖŸÖ Æîü, ¯Ö¸ü®ŸÖã (R) ÃÖÆüß Æîü … 

 

46. ÃÖæ“Öß – I Ûúß ´Ö¤üÖë ÛúÖê ÃÖæ“Öß – II Ûúß ´Ö¤üÖë ÃÖê 
ÃÖã´Öê×»ÖŸÖ Ûúß×•Ö‹ †Öî̧ ü ¯ÖÏ¤ü¢Ö Ûæú™ü ÃÖê ÃÖÆüß Ûæú™ü 
ÛúÖ “ÖµÖ®Ö Ûúß×•Ö‹ : 

ÃÖæ“Öß – I 

†¾Ö¬ÖÖ¸üÞÖÖ 

ÃÖæ“Öß – II 

ÃÖ´ÖÖ•Ö¿ÖÖÃ¡Öß 

I. ÃÖ´Öã¤üÖµÖ 1. ¸üÖê²Ö™Ôü ȩ̂ü›ü±úß»›ü 

 

II. ×¡ÖÃŸÖ¸üßµÖ ÛúÖ®Öæ®Ö 2. ÛúÖ»ÖÔ ´ÖÖŒÃÖÔ 

III. ›üÖµÖ»Öî×Œ™üÛú»Ö 
´Öî×™ü×¸üµÖ×»Ö•Ì´Ö 

3. ±ú›üá®ÖÖÓ›ü ™üÖê®Öß•ÖÌ 

IV. »Ö‘Öã ¯Ö¸ü´¯Ö¸üÖ 4. †ÝÖÃŸÖ ÛúÖ´™êü 

 5. Æü²ÖÔ™ü Ã¯ÖëÃÖ¸ü 

 Ûæú™ü : 

  I II III IV 

 (A) 1 3 4 5 

 (B) 4 2 3 1 

 (C) 3 4 2 1 

 (D) 5 2 3 4 

47. ÃÖæ“Öß – I Ûêú ´Ö¤üÖë ÛúÖê ÃÖæ“Öß – II Ûúß ´Ö¤üÖë ÃÖê 
ÃÖã´Öê×»ÖŸÖ Ûúß×•Ö‹ †Öî¸ü †¯Ö®Öê ˆ¢Ö¸ü Ûêú ×»Ö‹ ÃÖÆüß 
Ûæú™ü ÛúÖ “ÖµÖ®Ö Ûúß×•Ö‹ … 

ÃÖæ“Öß – I 

»ÖêÜÖÛú 
ÃÖæ“Öß – II 

¯ÖãÃŸÖÛú 
I. ¤êüÆü¸ü®Ö›üÖ±ú, 

¸üÖ»±ú 
1. ¯ÖÖêÃ™ü ‡Þ›üÃ™ÒüßµÖ»Ö 

ÃÖÖêÃÖÖ‡™üß 
 

II. ›êü×®ÖµÖ»Ö ²Öê»Ö 2. Œ»ÖÖÃÖ ‹Þ›ü Œ»ÖÖÃÖ 
Ûú®Ö×°»ÖŒ™ü ‡®Ö 
‡Ó›üÃ™ÒüßµÖ»Ö 
ÃÖÖêÃÖÖ‡™üß 

III. ¤ãüÜÖá´Ö, ‡´ÖÖ‡Ô»Ö 3. ×¤ü Êã´Ö®Ö ÃÖÖ‡›ü 
†Ö±ú ‹Þ™ü¸ü¯ÖÏÖ‡•ÖÌ 

IV. ›üÖÝ»ÖÃÖ 
´ÖÛúÝÖÏêÝÖ¸ü 

4. ×¤ü ×›ü¾Öß•Ö®Ö †Ö±ú 
»Öê²Ö¸ü ‡®Ö ÃÖÖêÃÖÖ‡™üß 

 5. ‡Þ›üÃ™Òüß ‹Ó›ü 
ÃÖÖêÃÖÖ‡™üß 

 Ûæú™ü : 
  I II III IV 

 (A) 2 1 4 3 

 (B) 3 5 1 4 

 (C) 1 2 3 4 

 (D) 4 2 5 3 

 

48. ÃÖæ“Öß – I Ûêú ´Ö¤üÖë ÛúÖê ÃÖæ“Öß – II Ûúß ´Ö¤üÖë ÃÖê 
ÃÖã´Öê×»ÖŸÖ Ûúß×•Ö‹ †Öî¸ü ˆ¢Ö¸ü Ûêú ×»Ö‹ ÃÖÆüß Ûæú™ü 
ÛúÖ “ÖµÖ®Ö Ûúß×•Ö‹ : 

ÃÖæ“Öß – I 

†¾Ö¬ÖÖ¸üÞÖÖ 
ÃÖæ“Öß – II 

ÃÖ´ÖÖ•Ö¿ÖÖÃ¡Öß 
I. ¾µÖ¾ÖÆüÖ×¸üÛúŸÖÖ¾ÖÖ¤ü 1. ÃÖß. ¸üÖ‡™ü ×´Ö»•ÖÌ 
II. ÃÖã¯ŸÖ ÛúÖµÖÔ 2. ‡Ô. ¤ãüÜÖá´Ö 
III. ÃÖÖÓÛêú×ŸÖÛú †®ŸÖ¸ü-

ÛúÖµÖÔ¾ÖÖ¤ü 
3. †Ö¸ü.Ûêú. ´Ö™Ôü®Ö 

IV. «ü®«ü ×ÃÖ¨üÖ®ŸÖ 4. •Öß.‹“Ö. ´Öß›ü 
 5. ™üß. ¯ÖÖÃÖÔ®ÃÖ 

 Ûæú™ü : 
  I II III IV 

 (A) 2 3 4 1 

 (B) 5 3 2 4 

 (C) 1 4 5 2 

 (D) 4 2 1 3 
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49. Match the items in List – I with the 
items in List – II and choose the 
correct code given below : 

List – I List – II 

I. A social 
movement that 
seeks to 
maintain 
society’s 
current values. 

1. Revolutionary 
Social 
Movement 

 

II. A social 
movement that 
seeks partial or 
slight changes 
within the 
existing order, 
but does not 
threatens the 
order itself 

2. Expressive 
Social 
Movement 

III. A social 
movement that 
stresses 
personal 
feelings of 
satisfaction as 
well being and 
that typically 
arises to fill 
some void or 
to distract 
people from 
some great 
dissatisfaction 
in their lines. 

3. Conservative 
Social 
Movement 

IV. A social 
movement that 
seeks to 
overthrow the 
existing social 
order and 
replace it with 
a new social 
order 

4. Revisionary 
Social 
Movement 

 

 

5. Reactionary 
Social 
Movement 

 Codes : 

  I II III IV 

 (A) 5 2 4 1 

 (B) 3 4 2 1 

 (C) 3 5 2 4 

 (D) 1 5 4 3 

50. Match the items in List – I with            

the items in List – II and                   

choose the correct code for your 

answer : 

List – I List – II 

I. A manageable 

number of 

people selected 

for study from 

a larger 

population. 

1. Sampling 

Error 

 

II. The failure to 

select a 

representative 

sample 

2. Sample 

III. A variable that 

changes for 

reasons that 

have nothing 

to do with the 

dependent 

variable 

3. Independent 

variable 

IV. A testable 

statement 

about the 

relationship 

between two 

or more 

empirical 

variables  

4. Reasoning 

 

 

 

 

 

5. Hypothesis 

 Codes : 

  I II III IV 

 (A) 2 1 3 5 

 (B) 2 3 1 4 

 (C) 4 5 2 1 

 (D) 3 4 5 2 
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49. ÃÖæ“Öß – I Ûúß ´Ö¤üÖë ÛúÖê ÃÖæ“Öß – II Ûúß ´Ö¤üÖë ÃÖê 

ÃÖã´Öê×»ÖŸÖ Ûúß×•Ö‹ †Öî¸ü ÃÖÆüß Ûæú™ü ÛúÖ “ÖµÖ®Ö 

Ûúß×•Ö‹ : 

ÃÖæ“Öß – I ÃÖæ“Öß – II 

I. ‹Ûú ÃÖÖ´ÖÖ×•ÖÛú 
†Ö®¤üÖê»Ö®Ö •ÖÖê 
ÃÖ´ÖÖ•Ö Ûêú ´ÖÖî•Öæ¤üÖ 
´Öæ»µÖÖë ÛúÖê µÖ£ÖÖ¾ÖŸÖ 
¸üÜÖ®ÖÖ “ÖÖÆüŸÖÖ Æîü … 

1. ÛÎúÖÓ×ŸÖÛúÖ¸üß 
ÃÖÖ´ÖÖ×•ÖÛú 
†Ö®¤üÖê»Ö®Ö 

 

II. ‹Ûú ÃÖÖ´ÖÖ×•ÖÛú 
†Ö®¤üÖê»Ö®Ö •ÖÖê ´ÖÖî•Öæ¤üÖ 
œüÖÑ“Öê ´Öë †ÖÓ×¿ÖÛú 
¯Ö× ü̧¾ÖŸÖÔ®Ö “ÖÖÆüŸÖÖ Æîü, 
‡ÃÖê ×´Ö™üÖ®ÖÖ ®ÖÆüà 
“ÖÖÆüŸÖÖ … 

2. †£ÖÔ¯ÖæÞÖÔ 
ÃÖÖ´ÖÖ×•ÖÛú 
†Ö®¤üÖê»Ö®Ö 

III. ‹Ûú ÃÖÖ´ÖÖ×•ÖÛú 
†Ö®¤üÖê»Ö®Ö •ÖÖê 
ÃÖ®ŸÖãÂ™üŸÖÖ †Öî¸ü ³Ö»ÖÖ 
ÆüÖê®Öê Ûúß ¾µÖ×ŒŸÖÝÖŸÖ 
³ÖÖ¾Ö®ÖÖ†Öë ¯Ö¸ü ²Ö»Ö 
¤êüŸÖÖ Æîü, •ÖÖê ×Ûú 
×ÛúÃÖß ¿Öæ®µÖŸÖÖ ÛúÖê 
³Ö¸ü®Öê †£Ö¾ÖÖ »ÖÖêÝÖÖë 
Ûêú •Öß¾Ö®Ö ´Öë ×ÛúÃÖß 
³ÖÖ¸üß †ÃÖ®ŸÖãÂ™üŸÖÖ 
ÛúÖê ¤æü¸ü Ûú¸ü®Öê Ûêú 
×»Ö‹ ÆüÖêŸÖÖ Æîü … 

3. ¹ýœÌüß¾ÖÖ¤üß 
ÃÖÖ´ÖÖ×•ÖÛú 
†Ö®¤üÖê»Ö®Ö 

IV. ‹Ûú ÃÖÖ´ÖÖ×•ÖÛú 
†Ö®¤üÖê»Ö®Ö •ÖÖê 
´ÖÖî•Öæ¤üÖ œüÖÑ“Öê ÛúÖê 
ˆÜÖÖ›Ìü ±ïúÛú®ÖÖ 
“ÖÖÆüŸÖÖ Æîü †Öî¸ü 
ˆÃÖÛêú Ã£ÖÖ®Ö ¯Ö¸ü 
®ÖµÖÖ œüÖÑ“ÖÖ ÜÖ›ÌüÖ 
Ûú¸ü®ÖÖ “ÖÖÆüŸÖÖ Æîü … 

4. ÃÖÓ¿ÖÖê¬Ö®ÖÖŸ´ÖÛú 
ÃÖÖ´ÖÖ×•ÖÛú 
†Ö®¤üÖê»Ö®Ö 

 

 

5. ¯ÖÏ×ŸÖ×ÛÎúµÖÖŸ´ÖÛú 
ÃÖÖ´ÖÖ×•ÖÛú 
†Ö®¤üÖê»Ö®Ö 

 Ûæú™ü : 
  I II III IV 

 (A) 5 2 4 1 

 (B) 3 4 2 1 

 (C) 3 5 2 4 

 (D) 1 5 4 3 

50. ÃÖæ“Öß – I Ûúß ´Ö¤üÖë ÛúÖê ÃÖæ“Öß – II Ûúß ´Ö¤üÖë ÃÖê 

ÃÖã´Öê×»ÖŸÖ Ûúß×•Ö‹ †Öî¸ü ˆ¢Ö¸ü Ûêú ×»Ö‹ ÃÖÆüß Ûæú™ü 

ÛúÖ “ÖµÖ®Ö Ûúß×•Ö‹ : 

ÃÖæ“Öß – I ÃÖæ“Öß – II 

I. ×ÛúÃÖß ²Ö›Ìüß †Ö²ÖÖ¤üß 

´Öë ÃÖê ¯ÖÏ²Ö®¬Ö®ÖßµÖ 

×ÝÖ®ÖŸÖß Ûêú »ÖÖêÝÖÖë ÛúÖ 

†¬µÖµÖ®Ö Ûêú ×»Ö‹ 

“ÖµÖ®Ö 

1. ÃÖî´¯ÖØ»ÖÝÖ ¡Öã×™ü 

 

II. ¯ÖÏ×ŸÖ×®Ö×¬Ö ÃÖî´¯Ö»Ö Ûêú 

“ÖµÖ®Ö ´Öë 

†ÃÖ±ú»ÖŸÖÖ 

2. ÃÖî´¯Ö»Ö 

III. ‹Ûú ×¾Ö“Ö¸ü ×•ÖÃÖÛêú 

¯Ö×¸ü¾ÖŸÖÔ®Ö Ûêú ÛúÖ¸üÞÖÖë 

ÛúÖ †Ö×ÁÖŸÖ ×¾Ö“Ö¸ü 

ÃÖê ÛúÖê‡Ô ÃÖ¸üÖêÛúÖ¸ü 

®ÖÆüà ÆüÖêŸÖÖ … 

3. Ã¾ÖŸÖ®¡Ö ×¾Ö“Ö¸ü 

IV. ¤üÖê †£Ö¾ÖÖ †×¬ÖÛú 

†Ö®Öã³ÖÖ×¾ÖÛú ×¾Ö“Ö¸üÖë 

Ûêú ²Öß“Ö ÃÖ´²Ö®¬ÖÖë 

Ûêú ²ÖÖ ȩ̂ü ´Öë 

¯Ö¸üßõÖÞÖ•Ö®µÖ Ûú£Ö®Ö 

4. ÛúÖ¸üÞÖŸÖÖ 

 

 

5. ¯Ö×¸üÛú»¯Ö®ÖÖ 

 Ûæú™ü : 

  I II III IV 

 (A) 2 1 3 5 

 (B) 2 3 1 4 

 (C) 4 5 2 1 

 (D) 3 4 5 2 
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